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1. a,rf,éhrrru.lm I” siehim QswhensCarensn eSamGeusflufied &@juqmﬁm unhGa.g);o
‘ giflpe eflgneprafiulicn Quuwir

A)  Dr. K. sevgnfirtuas B) Dr. M. gictmemrigieny

C)  Dr. A. Gausdpmastt D}  Dr. prggnymioesr. -
“Chandrayaan 1” Launching is pioneered by the Tamil Nadu scientist by name
A} Dr. K. Kasturirangan B) Dr. M. Annadurai‘

C) Dr. A. Veimurugan D)  Dr. Rgjaramanna.

2.  &pssamunmist e1g obled wenpullsn elemeney Bsoenso ?
A).  @emeunen .g;gmﬂsuﬂu.uﬁ Bmsz60
B) @empeunes ursvBul Gndsed
C) @mpeunen FngissaT SIUTSSHE oG
D) wen Jfleosgenenio o W56,
Among the following which is not a result of acid rain ?
A) de amount of aluminium availability 7
B) Low amount of phosphate availability
84 Low amount of nutrients to plant a
D) Increased acidity of soil.

3. @mm@usunmaﬂeo Cusinaen apradlésren girSet oflmg 2009 Spb LB
wn@,&@ QuUPRISUULL G 7

A) g0, sflgn Cxed B}‘ megesin Creumed
C) emb. 4. Gofl Cambd D) &fpgh seyi.
Who among the following was given the Arjuna Award in 2009 for Womens
hockey ?
A) L. Sarita Devi ' B) Saina Nehwal
C} M.C.Mary Kom D)  Surinder Kaur.
4. “eRrueto Sl SoUWY” ET6HTM HTEmey sT(plwieuit
A) | meuamiconed Cmam B) &t Ca. mromuestel
C) Bpdrn srpd D) -a. 8. Cg. aﬁgjd)&é)mb.
The book ‘Wings of Fire’ is written by | |
A) Jawaharlal Nehru B} R. K. Narayanan
C) Indira Gandhi D) " AP.J. Abdul Kalam.

|‘l‘602| {3001 ' . {Tum over
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5. uliuwed I g ulgued II ereér Quimsd., £8P  Qsr@ascul-Gerer

4

GHUIGsmms Cansn® sflwurer elsnLmws Coibtsd

UL 1guied I ‘ LLigwed 11
a) sfyp 1. @GLmoefl
- b) Qggm@_ 2. eeneiflemey sCsen
o) asweLb | 3. Hmwidrd '
d)  wemewmemd 4. selgpren srrs'mﬁllrrr’. N
EBIB s : '
a b c d
A 3 4 1 2
B 1 3 4 2
) 2 1 3 4
D) 1 4 2 3 _
. Match List I with List II correctly and select your answer using the codes given -
. below :
List I ' \ List Il
a)  ‘Tamil 1. Cudamani -
b) Telugu 2. Unnunili Sandesam
c) Kannada 3. Tirumandiram
- d). Malayalam 4. Kavijana Sastra.
Codes :
a b < d
A 3 4 1 2
B 1 3 4 2
c) 2 1 3 4
D) 1 4 2 3.
6. Banaflen (pHeombd H06leIL1q60 2 cameney
A)  wssdr wHmb Gynesflagpasien Cubun Bésnaienesen
B)  efprasneomsefie Qrnenflsst Qanrdveouu®aums FHSSQD, &HS6T
s (Higemed 5O SSQAUD
Q) SHwLET mnﬁﬁﬁfra&mm Blwdlgged
D! orsgmsswL, @Lq.és@ds@mb 2 _6Ten 2.mey,

’
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Ashoka’s rock edict-I contains the

A) measures for the welfare of men and animals
B) prohibition of slaughter and sacrifice of animals and festive gatherings
C) institution of dhamma mahamatras

‘D) relationship between king and his subjects.

Gluei g emTeuehy eTsiTLIG

A} Beured smedsmen B} ufleyleluwyn smellsen
C)  WrHuBaEw smelae D) geiGen smedae.
 Pen drives are |

As input devices ' B) storage devices

C) imaging devices ' D) display devices.

wsHu LHML wrfle SrFTASKEST ahs L Gweld Sp FhsEHEOLU
sifsrrisener udligg Ostaflsimen ?

A) wsHw Ul iguwed B) wrflev Ul pued
C) Curgtiuliguied ‘ D) (A} whmib (B) pflwBreim®Hib.
Under which list does the Union and State governments share their powérs ?
A} Union List B) State List |
C)  Concurrent List D) Both (A) and (B).

&lws GHvusde aps Canegpés simeamaGanst SenLwng ?

Al Qasdieun B) uysen

Q) sﬁluﬂr@sh D)-. geufl,

In the solar system which planet does not have any satellite ?
A) Mars B) Mercury

C) Jupiter D) Saturn.

Bidw emunlen iy HClwhés Lremes adlgns wHiy e wikg Curaug
A} 2Qwiés Lreoi mﬁ)m Quilw prewiisEns@ adlrms oSpsd omLge
B) fiHureles Qauallpr® psefbad giflswrengned '

O (A) wHmb (B) @remBib

D) SHeubmier aganbsome.

[ Turn over
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The abpreciation of the rupee against the US dollar is due to the effect of
A) depreciation of US dollar against the major currencies
' B)  surge in capital 'inﬂows in India
C) both (A) & (B)
D) none of these.

11. wnfleo gemnh, wikle saaed gemermweny Bluwemd Qeiw LlksIreEn
S(pauneng

A) (wawenwsel, adlialdl senevsul, FLL s0I FUNBILIGH

B} sewemwsed, e wifdwdin semeoemn- gﬁu@. FULSPL SLITBILISH *
C) (PpaeVmLESFT, FUL_FeHU FUNBMUSIT, smAe S|WEFEIT | i .
D) (waevemwssh, adlial § geneeui, wifle snfllen gimwssi.

The State Information Commissioner is appointed by the Governor on the
recommendation of a committee consisting of

A} l C.M., Leader of Opposition & Speaker of Legislative Assembly
B)  C.M., Chief Justice of High Court & Speaker of Legislative Assembly
C) " C.M., Speaker of Legislative Assembly & a Cabinet Minister |
D) C.M,, Leader of Opposition and a State Cabinet Minisﬁer.
12. @pHwrelled QurmeTrgnr Sl b,ahs0 UL Igwedled o creng ?
A} &S HrEUUlIguIed B) wrfles gratiuiiiguied
C) wsHw-wriler HFeIUL W D) ebsU LII'_Lq.uJS\S]QII.b Bevenen.

Economic planning in India is in

A) Union List B)  State List
C) Concurrent List D)  Not any specified List.
13. wsHw HLdg gempulen genevsulr wnk ?
A}  Sggw JemwEsFi B) (BYWIsHS Seveveuis
Q) D& SETENEU 56m606U D) g,]msu-n-éa (B WTSHS HEMoOeUI.

Who is the head of the Union Executive ?
A) Prime Minister B)  President
C) Speaker of Lok Sabha D}  Vice-President.

|
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14. 1991 & el s @pelsh semeveuyrns Smbseulr

A)  C. riusgnggein B) Y. V.Qmlyg

T) o J. Qesveneown D) riGssy Cunass.

Who among the following chaired the 1991 high level committee on tax reforms ?
A)  C.Rangarajan B) - Y.V.Reddy

C) RajaJ. Chelliah D) Rakesh Mohan.

15. '3@&5&6&31; wrfleo Ofeysefles e SPstugune o e gnsvﬂ-u.usw,m
2 Hugd Clewidlsmmen ? ' '

A) ,.L:gélnu SrGsawb, uEhenl, sblprr®H
B) th;b@ Qumsb, LghEn, sifrd yGCsew, e sfrw HrGsen
C) Léé‘l}'lli WrCsen, LEhen, wsdwi BrGgen, ng_ﬁ@ VAT )
D) rnggsivgnen, simpn_sb, Garen, Gmg‘_)@ s:ursjmb..
The group of states which are the major foodgrains producers are
A) Uttar Pradesh, Punjélb and Tamil Nadu
B}  West Bengal, Punjab, Andhra Pradesh and Uttar Pradesh
Cj Uttar Pradesh, Punjab, Madhya Pradesh and West Bengal
D) Rajasthan, Karnataka, Kerala and West Bengal.
16. &t guetr: engwen senevemwuled b QuHHHHS L@ﬂﬁmn’r&s‘n aenenflaens

. P SHBLD.

A) 5 B} 4

) 7 D} 6.

The Commission headed by Sir John Simon consisted of .................... members.
A) 5 _ By 4

c 7 D} 6.

17. Spsacn,.  sApEn.@ peoeaisdleo  wrr umrs  rgem  Amsy
- SeflssluLngeui ?

A)  C. raxGaruneonéand B) K. smnrrg
C) C. N. sjsiosmmngieny D) M. G. ymo&enSlrehn.

Who.arplgi‘ng the . following leaders from Tamil Nadu has not been awarded the
Bharat Ré‘:-tna ?

A} C. Rajagopalachari B) K.Kamaraj
C}  C.N. Annadurai D} M. G. Ramachandran.

B | [ Turn over
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18. @rdw szpdrsdneu Ut Qestensn wrstemsdlen WPaen (WEHH MLEFH

wri ? .
A)  Buregned B) . 9. @rrosnd Qnlguwri
C) ' & snogngy D} &b, usgaiFaeobd.

Who was the first Chief Minister of Madras State after Independence ?
A} Rajaji - L ' B) O. P. Ramaswamy Reddiar
C) K. Kamargj : D) M. Bhaktavatsalam.

19. Qesmenen wrarersSedlmba Qwmnflanf glq,uuml_lﬁlsu B3 hdorajeh
' BememsaiucL g ?

Ay dmuudl | B)  efguieunia
C) eSensiiul gemnb D) . sLum.

Which of the following was bifurcated from Tamil Nadu and annexed Wlth
Andhra Pradesh on linguistic basis ?

A) Tirupati B) Vijayawada

C) Vishakhapattanam ' D) Cuddapah.
20. gl gpeuneiv Cuinggemn aehiLgy |

A) Syrwoyp @mm@ﬁa&@&anm suwBeusmeveumiiy

B) eumerwsd Canliyn@ S e denaisghsE oSO S iS5m0

C) Geuemend@ o ewiay

D) wiHwu e ey Hib.

Indira Awas Yojana is meant for

A) self-employment of rural youth

B) construction of houses to BPL rural households

C) Food for Work

D) Noon-meal scheme.

21. 1fls Geusiong £PCrrsdl sNlyb LNMDSET, LD HIHETHET, FHHT(HSHET H6V6G
yellurenm Gunmstseflsnt @méssdhansr Gungieunss G

A} Pevssiley B) yswudiay
C) sespeny ' D) Bumens snrewflae.

The general term of relatively rapid type of mass movement, such as debris
flows, debris slides, rock slides and slumps is known as

A) Land slide .B) Earthquake

C) Heavy rain D) Natural agencies.

{3002}
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22. gr'rsql)_m‘._suﬂ elflssuu@o ClurmLser

A) @m&@mﬂu GlunmLasir B} apmpwdl Clunmlasen
C) e pusdu Qunmser D)  Qur@last eflhuenanulien.
Excise duty is a tax levied on the

A} . import of goods B) export of goods

C)  production of goods D)  sale of goods.

23. oBg WD Hphs eunsnGleuch Qsrarens P psuLBSSIUL L8 ?

A) 1995 ' . B}y 1992

C} 2009 D)  2000.

In which year was “Open Sky Policy” introduced ?

A) 1995 B) 1992
. C) 2009 _— | D)  2000.

24. SPE&HEUIL snpmisemeT HWS :
L Css@ owm psdu amarflu wrongb
II. Gzé@E wré snonasEns@ LHLLTSIED
H. Gzéw 300 OCesf sem  wenyp  Qupd '_u@ﬁﬁsrﬂsb

snsvor1L (D Elewn s
IV. Ggé@ 1000 (pged 2000 BSL_LK e wrupsten dlipsE Bwwweneoulfie
o eresmuu(hdlenmg,.
Qsz@g{dr : ' |
A)  lTwi@o sflurang B) 1& [l sflwnereneu
G L H &I sflunemeneu | D) siemensgb eﬂmu@mm-.

Consider the following statements :
I. Teakis an important commercial tree
1. Teak is valued for furniture
i, Teak is found in areas of 300 cm of anﬁual rainfall

V. Teak occurs at 1000-2000 m-height in the eastern Himalayas.

Of these :
A) I alone is correct B) 1&II are correct
C) I, IT & lil are correct D}  All are correct.

[3001) - 1301 | Turn over
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25.

27.

10

- Bpsacm_subpie ahg anrentl weakn o (meurs saremions eftentugfAng ?

A)  sreoflensd B} sre

C) NrGaesdlen oo emvLiy D) @mm.é’mmggjlb.
Which of the following factors helps in soil formation ?

A} Climatic factors B) Time factors

C) Topography of the region | D)  All of these.
Closnenen wisnem LLEHolFRE6T agild BIensd siipSweauiser

A)  Quisw & arOsst B) emruenit & Lirneiniq60
C)  epeul & gy D) oS & Sest.
“The Flora of the Presidency of Madras’ was written by

A) Bentham & Hooker B) Engler & Prantl

C) Wight & Arnott ' D) Gamble & Fischer.

igwed I g uligued I B en G\un@ﬁﬁ\f &0y Glan@ssnu_(Henen
'@yjluscb\aammds CQanem@® shwnen elenmws Caibbs® :

U quwied I . ' uligued I1
a} Feusfipgnoeni 1. @l:_l_&&'ui.,éﬁﬁ
b) S@meunsasb 2. oueseTL_men
¢) dSmuuremeu 3. ,e_ﬂ@ggé‘.&afﬁgmh
d) mLg supus 4. wrenflssangai.

&S s6r

a b c d

“A) 4 2 1 3

B 2 1 3 4
o 3 4 2 1

Dy 1 3 2 4,
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Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
Kl
d)
Codes :
a
Al 4
B 2
C) 3
D) .1

List I

Jivaka sinthamani

Thiruvasagam
Tiruppavai
Ittiyelupadu
b ¢ d
2 1 3
1 3 4
4 2 | 1
3 2 4,

-Listr i1
1. Ottakuttar
2. Andal
3. Tirutakkadevar

4. Manickavasagar.

28. uqu.-u.léb I » Ulnwe II 26 Gunpsdl, £Cp OCEr@assuulHerer
GHEGsmens Qansan® sfwuner ellen_ewws CoitQs® :

- Laguied 1
“a) CeuirbsL.snes
«b)  umsd
) uqbuq
d) srefluiise
GIIG s :
. a b [ d
' A) 2 3 1 4
Bl 2 1 4 3
c 4. 3 2 2
D) 3 4 2 . 3

Ul guwe I
1. mrr
2. ereiurlewwriiy
3. a;rn‘r@u;rms,_m)u_Gm'_

4. ursLb.

' { Tum over
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Match List I with List II correctly and select your answer using the codes given

below :
List 1 Li;t II
a) Groundnut ] 1. Fibre
b)  Cotton B | 2. Oil
¢)  Pulses . 3. Carbchydrate
d) Cereals . 4. Protein.
Codes :

a b c d

A) 2 3 1 4
B) 2 1 4 3
c 4 3 2 2
D) 3 4 2 3.

29. upprEGenn Bl astiug Hremisn SpsseavTL. eidlen apeob Clumib HiL e
A)  Aeisu eunsdl B) 2.6 gira Fimicuemraselr
C) Qufw SQwnunflast D} ustwissn_(p B4 enwwib.
Deficit financing méé.hs that the Government borrows money from the
A) REI B) local bodies |
C) big businessmen D) IMF.

30. . &e0aHT(H -(LPEIL_HEHIENM FTEUTIE0W MK S6I srg)@L_sh GClgrL-iyenLwig ?
Al drusb . ‘ B)  snrewmLnf(maid
C) UDEMEUBET D)  ysedh.
Kalakad-Mundathurai sanctuaries are related to
A} lions - B} rhinoceros
C) birds ‘ D} tigers.

3061 [156T)
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uiqwed I g ulnwed N eieér Qurmss, £0p OCarPésuuc G
BB amms Qanau® shurar sen_emws Carblsd :
' U g wieb I ©Laguied 11

a) WEITSSNEHH 1. Gleucinemf
b)  Fwonei 2. sifleot
¢) sflarevsn 3. IDRGg OGS
d}  unfl 4. epememeuwInit,
GHIBIs6T :
a b c- d
A 2 3 1 4
B 4 2 1 3
c) 3 4 2 1
D) .3 4 1 2.

Match List 1 with List II correctly and select your answer using the codes given

below :

List I List 11
a) Maduraikkanji 1. Venni
b)  Adigaiman 2. Kapilar
¢) . Karikala 3. Mangudi Marudan
dj Pari 4. Auvayar.
Codes :
a b c d
A) 2 3 1- 4
B) 4 2 1 3
C 3 4 2 1

D) 3 4 1 2, .
SpsaeiLcupPier g sflwre ClunmbSusheng ?

A)  SLL.eneT Sredeuml - ~  shlprr®

B) & Slyur S sreveimi — iy Wlsew
O rrbQul. snei L& sreeumi  — GRS '
D} wems L srédeumi —  sAEr_&N.
Which one of the following is correctly matched ?

A) Katalai canals —  Tamil Nadu

B) _Ghatéprabha project canals —  Andhra Pradesh
C) - Rampad Sagar project canals —  Gujarat

D)  Ukai project canals —  Karnataka.

{3001] , | Turn over
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33.  Quftifiensiv gyt TAISHCrwen & ersimenih LSSHD WIS OWPSLILILLE ?
A} _meold B)  ujsunmeir seunry
C) \eflesf D) @euphpiet ereaumblebens.
‘Periplus of Erhythrean Sea’ was written by
A) 'Ptolemy 'B) Hiuen Tsang
Q) Pliny D) None of them,
34, aftevGLrdlrmb, DIPVBQIGT cusnmeusny QEIRNE SjeneGasT LITLILIEN
lpHS '
’ s
4 —
NIENA
A4 AN
171 [
LA LI N
0 10'5 20'5 30'5 40'5 ,
A x " 10-20 20 - 30 30 - 40
f 2 4 2
B) X 10:5 T 20-5 20-5-305 30-5-40-5
f 2 4 2
C) X 10-20 20-30 30 - 40
f 10-5 205 30-5
D) «x 25-45 45-65 65585
f 2 | 2' 4
(3001}
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Write"-é@wn the frequency distribution corresponding to the histogram and
frequency curve : '
R

AY

foy

1N
NE /. \\
1/ N

0 10-5 20-5 30:5 40-5

A x 10 - 20 20-30 30,40
f ! 2 4 2

B) . ;ix 105-20-5 205-30-5  30.5-405
f ’ 2 4 2
f .

o ‘x | 10-20 20 - 30 30-40

- .
- f 10-5 20-5 305

D) x 2.5-45 4.5 - 65 6-5-8-5

f 2 2 ‘ 4

35. Qﬁb{:nsﬂs&r sresL_grefls Al g ?
SN 7 ‘
A} |, e B) Ouhisenm
) V- :
C) Qg - . b)  Casmunbysgni.
@wn | [ Turn over
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Which is the “Electronic City” of India ?

A) Gurgaon B}  Bangalore
C) Jaipur D)  Coimbatore.
36. umsmpsafledmba Carenmid Lnayaen '
A} UTEDD LG e, ST B) B uigeysen
C) e uliw ugeysen D) Beupmier stgrayiflsvenev.
Sediments derived from rock are '
A) Lithogenous sediments B) Hydrogenous sediments
C) Biogenous sediments _ D) None of these.

37. ‘Apfleuseflen Cerpmw’ steuget gy dfwi
A) S. L. iBlebevory B) A.l guunrflen
C)  enievel L adelleh D) an9Gan weufle.

‘Origin of Species’ was written by
A) S. L. Miller B) A. 1. Oparin
- Q) Charles Darwin D) Hugo de Vries.

38.  unsugelisin ppeitmy LDCeubHmImeL IS EH L6 igett eflwuner SUlgsg sl
dauuflmoemu sy, aflyn  QaunuBlmmu  HOLLYSEGST
Qar@&asuul (Detengy (°C)

A) Cleusnemen umsioLgely ( < 30°C ), Hleuliy uneougey { 260°C ), sy
ureioreiv  ( 350°C) ' .

B) Geusnemen umsvunsiv { 260°C ), SAsuiiy umsivugeiy { 350°C ), sy )
wursivougeiy  ( 800°C) -

C)  Qleustemen umelougeld ( 800°C ), Heusy umsiougsd ( 350°C ), &@mULY
ursivugeiv  { 260°C)

D) Oleueremen umsivursiy (< 30°C ), HAeuliy umeouge ( 100°C ), sy
unehoLITeiy ( 150°C).

We have three types of phosphorus Identify the correct ignition temperature _

given in parenthesis, °C : :

A) White phosphorus ( < 30°C ), Red phosphorus ( 260°C ), Black
phosphorus { 350°C) ' _ : ,

B)  White phosphorus ( 260°C ), Red phosphorus ( 350°C ), Black

~ phosphorus ( 800°C) '

Cj White phosphorus ( 800°C ), Red phosphorus ( 350°C ), Black
phosphorus ( 260°C) :

D) White phosphorus { < 30°C ), Red phosphorus ( 100°C ), Black
phosphorus ( 150°C). .




39.

40.

41.

42.

17 CINE

Sisreumeusseupmyett s1g) sflwineng; ?

A} &Cpevy sRDLEIL g6 e LemwLITET FTIPSHE

B) el QLpss sPDEICIasl Bl Lpemwwrer aupss:
C)  Qymfl SBlpmrLiasht s LpEnLOWTeN sT(pS8!

D) sblp-Sigmd sllprr e Bs upewwres spSs:.

' Whlch of the following statements is correct ?

_A) .Kharoshthi was the earliest script of Tamil Nadu

B)  Vatteluthu was the earliest script of Tamil Nadu
C) Brahmi was the earliest script of Tamil Nadu

Dj  Tamil Brahmi was the earliest script of Tamii Nadu.

BrAw SrFrRsD ahE g 68Ig0 WESW LTl Slennenw SenwHss ?

A)- 1973 B) 1983
C) 1963 ' D) 1993.
The Government of India set up the Central Bureau of Investigation ( CBI ) in
A) 1973 Bj 1983
C) 1963 | D) 1993

8. rsyigen gemanss HFfw salLenwly Bnauersdled Lpsaan abs
genenpy up eeundlssn ?

)  dw prsafle sHpieoneney Gwmu(agg]mg

B) & dw pr@Gsefled sniutsiu-wlemmed ebHul_(Heven Hrésin
C) ;g‘geﬁ:u Brsaflan_Cuw seniullsveon aurefluw

D) g fu udamedspstisailed 2 wissell Cobur@®.

C. Rangarajan has been actively involved in the Pan ‘Asian Commission
addressing to which one of the following issues ? - '

A}  Promotion of tourism in the Asian region
B) Impact of HIV/AIDS in the Asian region , | : -
C)  Promotion of free trade in the Asian region

D} ' High education in the universities in the Asian region.

a5s rdwe Fiflmss FLLb, emwssrmealsh aamenflames , rswh

e L wisasmallley 15% Bnssnt g asmy ¢HONGEerng ?
Al 90 eug Bj 91 eug
Cl 92 eugy . ' DY 93 sugl.

. . [ Turn over
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43.

44.

45.

18 : ’
Which of the following constitutional amendments makes that total number of

ministers including P.M. in the Council of Ministers shall not exceed 15% of
total number of members of the House of People ?

A)  90th B) Ol st
C) 92nd . D) 93rd.

B Bemes seeasd @ epuynd Qurups lammgsE 4 eflibwevset
o epTLnflsitnen. up Peanes sameuulieln HFliQeustor 200 Hz whmrendlsn Bg)
Aflg Qwpems UL, emaugsnd eflbioed sflwrdng). Bodwr neug Bemes
senculiien xHiGlauein aemen ?

A) 196 Hz . B) 200 Hz
C) 204 Hz D) 208 Hz.

Two tuning forks produce 4 beats per second when séunded together. The
frequency of one is 200 Hz and when the other is loaded with a little wax the
beats stop. The frequency of the second fork is '

A) 196 Hz B) 200 Hz
C) 204 Hz D) 208 Hz.

& Q&n@d&anul;t_mmauﬂd) abs K uksrmgdlen gumb' 6w
Sieopsasiu@aADg 7 '

A)  shens pd B) &sCuwigh pd

C} ardsail pd ' D)  Arbwysdrr.
Which of the following rivers is called as ‘Bengal’s sorrow’ ?

A) River Ganga B)  River Damodar
C) River Hooghly D}  River Brahmapﬁtra.
QugILed eudE st Bmss Carsmug

A medw @udeonss priigd  B)  aysvSGraduneis
C) oOwNss msdu rGesfiso. D) senLnele.

. The concept of Public Interest Litigation originated in -

46,

A)  United Kingdom B)  Australia

!

C)  The United States : D) Canada.
(PHOMLESFMT (HNNEH0 (apuwled Caibbls®ss Dt wifleow erg ?

: Al Guamsownr B) SimewmEseoullyGaan

C) mreeonhgl ' D)  wswlluy,. '

‘



19 | CINE
The lndian State whez;e the Chief Minister was elected by lottery is
A) ?Mfghalaya : B]  Arunachal Pradesh
Q) Négaland ' : D) Manipur.

47. WolensivGanellen seonssny gienpwnsd spgemen Pl Qumfisst  suflujn
- ﬁj\mmuﬂs\) 2_6eng, nmaﬂsﬂsauuL@mmg}O

A) 192 _' . - B) 147
. c) 142 | D) 196. |
- . How many Indian languages have been listed as endangered by the UNESCO’s
K cultura.l agency ?
A) 192 B) 147
C) 142 | D) 196

48. !f,]nannas Fops Cprésmseméans Mesaumb Qmmj]assrﬂm srg,g, Qumflemw
S(Cans uweTu@sSlemni ?

A) . swsvélmsib B) dSrrdmsid
C)  umes : D) &b,

Whichfone of the following languages was used by Ashoka for administrative and
no
social purposes ?

A)  Sanskrit B)  Prakrit
Q) Péai D} Tamil.
49, dlshm@lb wrHsefied @mﬂmnsql_sh Qutﬂtusnsﬂeo usmmm.@ suerille enl_Lnerd)
B . srgj ? ‘
A} peipwn : B} &#H0m_ Sifli st
C)  msduw HowMss ;_r,ir@ D)  &emn. '
Which "%ong of the following countries is India’s largest Intemational trade
partner ?
' A) Russia B) UK
o ﬁSA ' D) China.

- 50. mdré_&rf&r CsveussBRGET By FhSHETO) aIDESMmSHF Enffj_if,;g,suﬁ ?
. AL

A) @kngﬁssh - ‘ B) - Geriaeir

D)  uevsvsuiisslT.

‘ . | Turn over
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King Selvakkadungo belonged to which Sangam dynasty ?
A) Cholas B)  Cheras
C) ' Pandyas | D) Pallavas.

51. sllppaciged o eren Binflsr s A nsafie ofs e pusd Slmstr L
ghlwren euflens 615 :

A} Qaren wai, Quilwrk, Cul @, @ban
B) @B, Cul @, uflwnh, QasrenLwini
C) Cuu@h, Guflwn, Qarenwrh, Ghsn
D) @Eg,n, Quflwmi, CuL_®Br, QarenLwimf,

Identify the order of highest éapacity of producing hydroelectricity projects in
Tamil Nadu state : |

A) Kodaiyar, Periyar, Mettur, Kunda
B) Kunda, Mettur, Periyar, Kodaiyar
C) Mettur, Periyar, Kodaiyar, Kunda
D) Kunda, Periyar, Mettur, Kodaiyar.

52. 2000 sug striged giblemp Cuss Glmblurs Clanesr_euiser

A) 65 feveSwebr B) 6 BeveSiweir

C) 20 bleveSlwietr | | D) Beupmyst srgieyblsbensv.
Tamil was the spoken lanugage for ébout ................... in year 2000.

A) 65 millions B) 6 millions

C) 20 millions : D)  None of these.

53. &0y eRulLGmeaubile goui Heens HBCemm suflevn s1g ?
A)  afevigiuyes B) BgCwnsmevrsir
C) dlsiviesin D)  Hevemistr.
Which of the following amino acids docs not contain sulphur ?
A) Histidine B) Methionine

Q) Cysteine . D) Cystine.

|
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54. apg oo yeel ey uguunisligd L  Gedasn

Sient_wrenuiuSgla gl , :

A)  ursuedlsl aiigeuhHeng

B)  ureuellel Fnwene

C)  ugeusSiehn snmcbsuqn.b Ui U SHENGUYLD

D) Paupmsit g blsoeney.

Histogram identifies in any data analysis

A) | the shape of the distribution

B) the pattern of the distribution

C} | the pattern and shape of the distribution

D) - none of these.
55. G CunSennsn ersugy |

A) Blpsserend o emeng) Bl fpwhHo supsEd Seremwwg

C) e fmwreng D)  fmwpp £Msn geenw oL wgi.

Protoplasm is a

A) coloured substance B}  colourless viscous substance

C}  blue colour substance D) " colourless watery substance.

56, e o Agburbfarener Siphs S 1b

Al PISSEG B) S@CipaCoust
C) el wymb D) wgenr.

V. 0. Chidambaram Pillai was born at

A} ’Futikudi B) Tirunelveli

C) Ettayapuram D) Madurai.

57. A, B eietim Soan® (pnisst 15 whmyb 20 Q@L@&ﬂﬁé’\) Qg igemw Blguyw
Spenr Quppera. Cr Crrsde @m Gemisgsw Spts N LuBAspern.
iy 4 AN masemaGl DG A senp @GEend epLuu’ B OGHDg el

Qg g sreusuetey Crrsdley Hybw ?
A) 10 Bllib 20 eflemmyg B) 11 flblib 45 eSpmg
C) 12 bl ib 30 eflemmg D) 14 bflib 40 efimmg.

| Turn over
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Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively.
Both the pipes are opened together. But after 4 minutes, pipe A is turned off,
What is the total time required to fill the tank ? ' )

A) 10 min 20 sec B) 11 min 45 sec
C) 12 min 30 sec | D) 14 min'40 sec.
.58. yeheflefeurmasner oL cusmentiLBSEI560 e16mLIg)
LAY aemstuBsgieshE e Guoh@snseriu®aug)
B) ecuemalu@sgicushel Ner Cuh@aneeriL@eig
C) Gﬁm&ﬂu@f&,g@@gjn@ enmns Gunolarstenuu@® eug)
D) @eupmien sigiebleveney.

Tabulation of data takes place

A) before classification

B) after classiﬁcati;:tn

Q) simultaneously with classification
D) no criiefionj

59, ‘sreun- s’ ﬂshu'g,]

A} Sant, Comh@ eurusreb, Mrisseanl whHmib 2 587 NrCsesdled uga&]u.r
Qunsyé aargrgs Cal

B)  euL @idwnelled 2 @meunen @ Buwssn
C) BeveomBlwfleln (n wg é.l;.ﬂun@

ID} Beubmyst ezieBerene.

Kala-azar is

A) a serious public health problem endemic in the states of Bihar, West
Bengal, Jharkhand & U.P.

B) a movement started in North India
Q) religious festival of Muslims
|8)] none of these. .

60.  engpdwyeen mgn&as@m m&g,@mmﬁ@m £g&.asm1_eug)!f)16\) aengl  LumHH
' 0w 2_gaydlenimen ?

A) Uss sLd B) en&eu WSID

C) eveuemIoL WGID D) - &sdw wsd.

|'3061]
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_‘Rer{.}ains of Stupas and Chaityas speak about -
A}  Buddhism © B) Saivism
- C)  Vaishnavism D)  Sikhism.
61. 1924 & eneussd s&HwWslres CurrmiLb aghsns HLhsst ?
A) : D|emeEwsT SLL_ '
B) - auflenw 1&g QFLw .
Q) snphis snd Disisssnen Candesed SDSés
D)  snphs sn1d DEgsssT Heod ameusH(mss.
The Vaikkam Satyagraha was he‘}d in 1924
A} .; for the construction of a dam
B) for the abolition of a tax
C) - for pemitting low caste Hindus into a temple
Dj  for permitting low caste Hindus to hold land.

62. " Spdsoubhmiet ahS @ @:_Lh Aetm@auen Syymi&dl jf,l@mmg)gm_sm
QsnLiiysn_wgemy ?

A) - ap&en B) Lgﬁmrﬂ&@a:m'.;.n

¢ glbumr ' D}  musuph,

Which one of the follomng places is not related to space research
orgamzatmn ?

Aj]  Hasan B}  Sri Harikota

C) Thumba D)  Nagpur.

63. A aev. @ oyi-en eww BenCaudBud grmisd Hmeend e
SienbpsieTeng; ?

A} ysg GlL_evel B}  &renr&©lg
C) . ew&Germn ‘ D) m;éx_\)gnnung.
Cenfral Electrochemical Research Institute of CSiR is situated in .
A)  New Delhi 'B)  Karaikudi
‘ C) Lucknow D) Hyderabad.

64. a%’@égss&m. !5"0?61”?‘6‘) steuit FICCI 661 eneveunns 2 enenmi ?
A} sefled L6 - B} OAgCurastieoned (peggned
C)  eysmsi S. @eneunh D)  eSGeus wilost.

- ' (1301] [ Turn over
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Who among the following is the President of FICCI ?

A) Sunil Mittal : B}  Brijmohanial Munjal

C) | Onkar'S. Kunwar | D)  Vivek Burman. |
65. wenflPSSTH W JiEMWHSIETET UL L Lb .

A) HmompsoGeusd B) wgeoy

C) Ggef D) PHamBése.
Manimutharu dam is situated in the district of

A) Tirunelveli B} Madurai

C) Theni D} Dindigul.

66 e eiTiqed, CleuiiedrL g,ma‘u e it Zimhs sbuaud (W @pgaona u.mmub
FopULIL LGl ?

A)  uriGunsn ' B) wr&lsrGur@eon
C) el B D) @Sl (L.
The martyrdom of St. Thomas on the Mount was ﬁmt referred in the account of
A) Barbosa ' ~ B) Marco Polo
" C) Eliot D} Ibn Batuta.
67. 12-22432-42 457 62 472 -82 492 ~10? =7
A) 45 B) -45
C) -54 D) -58.
4% _22% 432 42 £52° 62 +72 82492 .10%=?
A} 45 B) -45
'C) -54 : _ D) -55.
68. (10-4 -(9-4P =7

A 1 B) 198
C) 396 D) 94

0.4 4P => o

A 1 : . B) 198
o 396 . D) 94.

|
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69. s&w® 616‘63'!‘ 10 b7 @\yesoTi_1g oK 6T 616701 1sbTGeT ?

A) 10 = ' B) 01

C} 1010 ‘ D} - 101.

What is t?e binary value of the decimal number 10 ?
Rt

A) 10 | B) o0l
0 1010 ' D} 101,
70 @;f,ﬁu: é]al_l_&@@ TS LB ‘@QJQJULII_L_@ ?
: A 1947 B} 1948
‘ Q) 1;949 _ D) 1950. )

The_lnd1an Planning Commission was established in

\ff*‘ E

. A) 1947 ' B) 1948
i Q) 1949 ‘ D) 1950.

71. LS]smsu@m aps 2 Guragdne oss  sisedembs e Gersims
-ﬁlaﬂg,@g;@uuﬁso Bigs  Cum_rfwibd au.nmm@ Lqunﬁggj SemTUb
cgqsmmfrcq& Gaiwid o_sir ndlsipg ?

| A) asmﬁum . B). @;Glrmﬂu.llb
- .CJ _.-Lﬁurﬁl&@f‘& : : D) Qeushrerfi.
‘é)x't'.rafgii'ojn of which of the follc;wing elements from its ore involves reactions with
- dilute '-i)g%assium cyanide solution to form soluble_éomplex ?
A) Leé{d B) .Chromium
Cj Manganese ‘ - Dj Silver. -
s 72. Q_Gmrra;rmacrﬂm Cuphurieou gpite). Qaiw uweTuBib s@melluilsn Cluw
| A) @srﬁ ) T GevoTn &5 4 B) aQevs e meimrGernddl
C) Bpwresowrefl D) g,meﬁlé&qmnaﬂ.
| The instrument used to study- the surface of métals is k;lown as
! A) optical microscope ) B) electron microscope
- c spectrometer ' D) polarimeter |
t 73. srrgrn;ri\mmm Bewsalipn ..o TYEY.TAL 'IBL_QQUIJ@&LT)QJ
A) mnfr&bﬂ B) & eng N
C) il.mr;lﬂ : ._ S D) dAsdleny. |
| ' ' [ Turn over
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74.

-75.

76.

77,

—

\\

Music festival is normally conducted in the month of

26

A) Margazhi : B} Thai

C) Masi D) Chithirai.
Spssam_meusealled eubs Qlasd o mItiyseT heon salema Qaner_smeu ?
A)  enwl GLrsreir fwn Bl eneBarGenbast

C) Ganevens 2 mliysen . D)  estnCGLmlenng cuenev.

Which one of the following organelles is enclosed by a single membrane ?

A) Mitochondria ‘ B) Lysosomes

Q) Golgi bodies ) D) Endoplasmic reticulum.

LCrri et HfiFenev Nemeumdlshm (penmsafley agieausnmy sagyeut ?

A) B Ra@sed B) SdengauemLge

C) ofen Baasriu@Bse o D) @u.l;_l‘)masg genenw B 560.
Coagulation of protein is called

A) Dehydration - B) Decomposition

C) Deamination D} Denaturation.

50y B @Cr e.Censgstaubd s @rawm@ asnbSsefldn HengsemL s .
pempCus S b whHKID 10 b, SisuelE abfasildn syrrseilsn aldizw

A) 2:1 . B) 2:4 :
c V24 D) J2:1.

Two wires of same material and length have resitances 5 ohm and 10 ohm
respectively. The ratio of radii ¢ two wires is

Al 2:1 B) 2:4

C) J2: 01 . D) J2:1.

wefen graureilweleh sEems s SenpasULGLeR

A)  Sifleviniged : B ap9ssi '
C) Qusgead D} elenGenweiv. .
Father of Modern Botany is

A)  Aristotle ' B) Hooker

Q) Bessey D) Linnaeus.

e



T 27 | CINE

0
78; . s_mrstqu LREDSWID gp&aLs LiTenguib s HeEb b
C , B)  @reeusmer
o .imraqs @6 D) smpisGp.
The dlgestwe and breafhmg passages Cross in the
A) i- jP?harynx \ B) Larynx
, C) Oesophagus D) Trachea.
79 J?mr%?fg@alﬂumu& Gl redsrDishen @(th ng._@ds@ gD mmmcan@
A) . @sﬂm mmm@&u@
B) *ﬂl Lilrsutmmu.lm '
C) @@m mmm@an@
D) fs% @f_gjq;pm S mbg UeOSILDLD CuerCrrads Q&mg}_uo CriCGar®,.
If there%s a constant increase in a series, the smtable graph will be
A) j ;;nva curve
B). -‘%Eéirabola
C) ;;cegncave curve
D) # awstrajght line rising from left bottom to the right top.
80: - l.u...lq.u.a‘sb I & ( Qgmfibsremevasiist @werp ) uliue I ( Pis

’s& [

(gam ; luG\u.mgg an@panms\ms’n ) eénw Qun@g,ﬁ 8@@

‘?§ ' uLigquied I _ L ig W60 II
a)“t Debremions 60 1. Swoni
blé an;bﬁsbso#wd) &OLHDISE 2. QuLGrreSwib
%C;f a5 Camhnis 3. amiuf ( Gy )
d}a susbEsmEGIHmLb 4. el Qargpriyl Glunger.
GG her o
&' 5 ¢ a
A 3, 2 1 4
B) 2?% 3 4 1
o 2 3 1 4
D) 3 2 a4 1
o : - | Turn over

4



CINE

28

Match List I ( Industrial process ) with List 11 { Industry with which associated )
correctly and select your answer using the codes given below :

List I List II

a} Cracking: ' 1. Rubber
b}  Smelting 2. Petroleum
c) Hydrogenation 3. Copper
d) Vulcanization 4. Edible fats.

Codes
a b c d

A} 3 2 1

B 2 3 4 1

c) 2 3 1 4

D) 3 2 4. 1.

8l. aQumiLr Qewspenmulien GhlECarams Bmuus)

A)
B)

<)
D)

Sfraungsmg auais@w BIOSEHSsE sI_GuUUIDsma SHas

2 _suaemnedlul - u&engel(® QUMY & SHET Qeueflell i@ ansn
s HuLBssIeug

SIT JHDEO 2 VG 2 LW HIHsma s (HUubDsseg
aan_tisgsdoLCu Qgrmeg Csiiimu  Hnissn  BrOsmes
sLAuUUBSSIeus. ' S

“Kyoto Protocol” aims at

A)
B)
C)
D)

cutting sanctions to countries which promote terrorism
cutting global emission of greenhouse gases
cutting sanctions to countries which promote nuclear power plants

cutting sanctions to countries which stall inter-continental
telecommunications.

82. wiHw o menensdlipriE rrisd Elmeuatd s, &mm:_ﬁ,gjmmgj ?

A)
\®)

ClanenL_&gnewed ~ B) Gamnwubyssnk

Sibeon D) Qusesh. -



29 ' CINE

Central' Potato Research Institute is located at _
T

A} deajkana'l | . B) Coimbatore
C) Shimla - D) Bangalore.
83. a.mgrr,s gt e CsCam® ng..ﬁqmn...mg; '.
' A) ags\) B) guern
cﬁmo&s&r D) Deubgen ﬁgq;&dsfmeo.
. Usta‘g iaklr Hussain is associated with _ |
A) Ghazal B} Tabla
M C) onlm : ‘ D) None of these.

84. Gm_l_.dl uag sipSw ;_r,nmsu(a;m) a1t/ areneu ? |
A) 5{ Bl CLs e &b'—' e emeols B)  cheemuel umiledl Sib el

C) ergsh HBL @ sn6d C&ebrL_iv D) eneu SienenS b,
Novel(s) }wntten by Chetan Bhagat 1s/ are |
A) - ’I‘he 3 Mistakes of My Llfe _ B}  Five Point Someone
< O?c Night @ the Call Center D} All of these.
85. - @@fﬁéﬁba’"m VG
- A ms? - B ms”
o) im"é | D} ms2,

The uhié of acceleration is
A) ‘m:_s‘?' B) ms
C) ms D) ms*,

86. -&pm@m wrfleorisafled Femred Lg)ug,,é]uﬂso wadHu Brib sudiug 18l ?.

‘A) glﬂl‘pf_&ﬂ@ _ o B)  ugpenL
| C) Gmg)@ QUMIBREMD Dj ,gg)lﬂu.urmrr
Which of the following states is 1mp0rtant for Jute production ?
' A)  Tamil Nadu B) - Punjab
C) Wést Bengal ' )] Hafyana. -
: 87. BHlé ¢ a,L_ﬁmuJ Canpmefsseui wni ? _
A) Dr C. pGL &6 B} QuAlwm . Gleu {0
C) ga!nmyng : | D) &im. . &.
4§ : :

_ SQQI : . - ' [ Turn over
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The founder of the Justice Party was
A)  Dr. C. Natesan B) Periyar E.V.R
C) Kamaraj . D)  Thiru. Vi. Ka.

88. 2001 wasaClgims sansCla@ulfenig Hfls wasa Qgrams aramuuBb
wrauLiugener  EsMGgIamsullss  guquuenLulsy Cuellmig  Sprs
uamsuuB ESIS

A} Ganubysgnt, Oesnenen, Ceugh, Caevid -
B) Qeeienen, CanubLggnt, Goeow, Geugmh
C) Qssnemen, Coamubysant, Cmgmfr. Coeod
D) Geugynir, CGaeoid, Olashenen, Camubysst.

According to 2001 Census, the highest population is foupd in which of the -
following districts in descending order ?

A) Coimbatorc, Chennai, Vellore, Salem
B) Chennai, Coimbatore, Salem, Vellore
C) Chennai, Coimbatore, Vellore, Salem
D) Vellore, Salem, Chennai, Coimbatore.

89. 2010 & GQLeedlied mewL.Cubmm smosnGleuss eﬁmmu.:m...@ GUITL_lq,Iﬂd)
BpsacnL ahg @@ Sdtend L wCubng ?

A)  dmsb B) ye&
C) wulled - D} eaflagder.
What was the mascot for the 2610 Commonwealth Games, Delhi ?
A) Lion - B) 'i‘iger
C)  Peacock D) Zebra.
90. Ganeuncliig wibler SFasvg CatRSHIULL. et
A} 1980 . B] 1987
C) - 1989 D} SeubHmet siziebledsmen.
Goa was given the status bf a state in _ .
A) 1980 ) - B) 1987
Q) 1989 D)  None of these.

-
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@m@wneﬂm 2001 gyb e WESMOSNNS &méQa@uﬂdﬂuq 1000
:gd,sda'res@ds@ Qua‘urasrﬂm el flsib

. I’ '§
A) 939 _ B) 959
C) 933 | D) 927.
- In Inc}*ﬂa;‘?\ccordmg to 2001 Census, per 1000 male, number of females is,
A) 939 B) 959 |
g ¢) 933 D) 927

n .

92. ggm@mmmmmjsh a,nm@,omgpuuq sflwres  afimsuu@ssiu emens
Ggff& ' ‘

A) gggjmypu.urmm @u.ldsaﬂ.b &Cgfl Quasw, s wpiuy Quss, Heorug

@ludsal.n
!

B) ﬁs\)uug Bussn, pisiempuranw Bussb, sl brdy Qussd, sGsH
- @m&&m

C) &Ggaﬂ Buwaap, Heorus Pussb, @ggmwmnmm @u.l&asm FUL oL
o 'Qmmm

D) EL_L_ WML @m&&m &5C8s8 Bwésb, Seomug @uJe‘\sasm @ggjmg:umsmm
- ‘@u.l&.asm . :

Choose t.!’_le correct chronological sequence of the following national events :

A) Non-cooperation movement, Swadeshi movement, Civil Disobedience
mmfement Khilafat movement

‘B) Khﬂafat movement, Non-cooperation movement, Civil Disobedience
movement Swadeshi movement

C) Swadesh: movement, Khilafat ~movement, Non-cooperation
| movement Civil Disobedience movement '

_ D) Civil Disobedience movement Swadeshi movement, Khilafat
' movernent Non- cooperat1on movement.

- 93. @)@ﬁcamm) (y)e\)a;a'n.gj SAH M &mn&ﬁﬁsﬁ@un@ ppemowns  Slasha

N . Q_@Gunés(g,mgj
S e . ' -
A) 12'619.19 epevdsapisen B) 18 gl ppevssmmisen
O 24 a9l WpessAmssT D) 38 il ppevsammise.
b
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Complete oxidation of a glucose molecule in aerobm respiration results in the

net gain of _
A) 12 ATP molecules B) 18 ATP molecules
C) 24 ATP molecules D} 36 ATP molecules

94. Ampfle (EHEmsGansiv asnsmuu@suélmmso gelenepned HiZ J‘b&qdm_
- el NEpFIuBEADE iGiIeunsg

A) rr&eninsd Lypihe0

B} - Gelha@d @wmnl

C) CuaCGrrsd Gashigb Clapshededr @ wpmni

D) GEpsGan g Cungdb Guemonebreiv CaiGusE Clsseong).
Glucose is never seen in urine because it is mainly absorbed by

A) proximal tubule

B) collecting duct

C) ascending loop of Henle _
D)  glucose never enters into Bowman’s capsule.
9s. @tHwrelen Sz (_t,paubmgj spdafl ez (PHO umg@m@umu Csnfihs
: 26D
A) 4.5 1000 o B) 4. . 2000
) & 8. 1500 o D) 4. 9. 1550.
In India Mahmud of Ghazni began his first raid in
A) 16_00 A.D'_. B) 2000 A.D.
Q) 1500 A.D. D) 1550 A.D.
96. Spsacm_chPle Branyme samGiily
A) | H,0 curyfleney B) CO, ahd H,O0
C) COandH, D) CO, and H,.
The water gas among the following is
A)  H,0 in gaseous state B} CO, and H,0
C) COand H, . D) COyjandH,.
97. Heflwr wHypbd é\sﬁmﬁﬂmu&aum eﬁﬁmélgctr ﬂ@mam.b a;mm;j,g;mm Y
-A) rmgpd B) Qansosssn
Q) @meu , - D) Heved.
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Satyajlt Ray Film and Television Institute is locatecl in

A) Ranchl B) Kolka.ta
C) .Mumbai D) Delhi.
98. (g:uuﬂm%rmg,lé]m assemen  SlCreueh gmrﬂes@asrrsmmasm ( Bravais lattice )
L_GTETEst 7 ‘ )
A) .5 ! B) 9
C 14 : D) 32
* The number of Bravais lattices in three dimension is
| a5 B 9
n 0 14 ' D) 32
99.. @,l_f,ﬁmneﬁsm ApLiy ewLwiren ySen & @@sﬂm SEHEVEUTTE @Qbuumfr
A) ,r_r,m}jnwsm&ofrgﬁ B) mhsen BeoCsemdl
. -C) L‘ﬂa\)(‘éau_sm D) &6 Aued,
The Chairman of Unique Identification Authority (IDA ) of India is
' A) Narayanamoorthy . B) Nandan Nilekani
- C) Blll Gates . D) Kapil Sibal.
- - 100. @m;_r)gjm aflwliurenm s1g ? ‘ |
A) umm_‘ﬂsrr B) flevssfl
’ C)  dlfnemeni. , D) éiuGso -
Whlch 1s,an organic rock ? - >
i A} Marble - B) Coal
C) Granite . D) Slate.

101. £§p§;§:§&zﬁ_i_ Fn DD HENET SIS

I ¥ SITHAW S|EHLILY Fal Lol & (pemmuilenen

+ uflpgienrsdlsitnsy
I 1 iy srfusd ewUuy  ghson L wespuisnen
uflglenredlsiins
L. @du rflwe  yewoly  Pevar-salLmidl  penpulenen
o , uflglenrsdleima
V. @Edw Hrdlwed vy oT- (GO a'n.l_l_rn_él (penpulemen
ta ' urﬂ,[r,gjsmlr&eﬂsmmgj :
' Q’m,@gvim ‘ ,
A) 1 mmg;um I eflwrenensy B) 1wl G sflwuneng
Q) IVisl @b sflwuneng ' B) I whpb IV sfwnereney.

| | | [ Turn over
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102,

Coﬁsider the following statements :
L. Constitution of India advocates a federal system
II. ° Constitution of India advocates a unitary system
III. Constitution of India advocates a éonfederation system

IV. Constitution of India advocates a quasi-federal system.

Of these : s
A) I & II are correct B) 1l alone is correct

. 4
C) . IV alone is correct , D) I & IV are correct.

G-20 wrpr( ( 2009 ) peoL CunHn HEFLD
A) 6\):66"6“_61'51 ' | B) Hupunis ’

C) wrevGan - D) &emn.

G-20 Summit ( 2009 ) was held in

A}  London : ' © B) New York

103.

104.

F5WCe s e1gn)ib QEH'I-DQDITL_-I'T agseflefmba a@&a0UCLS ?

C) Moscow ' D) China.

A)  #& Geugd o B) wgg9i Gaugid : _ :
C) &mp Geugd | D) .(pehrs e uflLgib.

The words ‘Satyameva Jayate’ were taken.from

A) Rig Veda ‘Bl Yajur Veda
(@}] Sama Veda ' ‘ ‘ D) Mundaka Upanishad.
Bhisev sTebTLIS)
A) QuilweiisEns® aguuiuGn Heeray Adnemtd _ ’

B) SirgisEhse epuusuiib Bevena Asremb
C] alrisEns@ sigpriutiu@ Henesey Henemb

D) . smbwrisEpé® sieuuLLGD Henatey feenb.

[1301] - | L
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..@
m&w i st

e
Here ‘stone means
e ?,, :
A] 2

Ta ‘memorial erected in memory of elders

o B)' ‘ i memorial erected in memory of king
C) ! ié memorial erected in memory of a warrior
D) a memorial erected in memory of a saint.
' 105. a‘-r'slgs?'fjnm Quesmaen |

- gepsddled whlsHELLLL N

‘ f I
- ‘ ; gl f @ens, pLsmb, Bn_sib, soefluled Anpbg eNsnmsd)sori
‘ 4 ‘ AL ueo Gunpiiiysemen cudlggent
: . 1,,; jg;v Biowemd 4L GopSO BLEE.
| ﬁ’wmmr | |
A) % l I 1 whgub IV #flunetsnel B) I II whgnb IV sflwnenene
. -.? C) ;J 11 whpbd 1 sflwnsneney | D) L Il wpHpnbd v sRwnsmamey. '

Wc:i;'qegn of Sangam age
. I enjoyed respectable status in society
J II gkcelled in music, dance, drama & education
E QIII held many responsibilities |
HV had marriage in Aryan fashion.

fR0 these
i 7

_A) I, M1 ancl IV are correct B) 11, Ill and IV are correct
¥ *'C)*H ’%I 1l and Il are correct : D) 1,11 and IV are correct.
. 106. énEai HMLIEHLORITE 6Tl 661 61 TeOmm) £psneaiiiouhfied ar A

. ‘@gﬁiulﬁh_uu;@mmgj ?
’ _ l; I gg,nmnuﬂu,é]mmﬁhru;_r,gm
‘ - ' : -%_II. BhS ssvlbusD

i . . dAeoviudlanrib -
;;_ ‘Q’g *’}IV ﬁl@_r,gansﬂm_ﬁqunmm
; @wpgzlsff
» : -A)i 1 : Foppibd IV Fhwneneney B) I wl- B Fflwnests
), ; I wppub IV sRwnsenea D) IV wi_ G shwrerg.

ik , o - S ' Turn over
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History of Saiva Nayanmar is narrated in the
I. Nalayiradivyaprabandham
II. Nandi Kalambakam
II1. Silappatikaram

IV. Tirutondar Puranam.

Of these :
A) L I& IV are correct ' B) Il alone is correct
C) Cm and IV are correct D) IV alone is correct.

107. 1795 b gedur(p) qurﬁwmsn Gpfiyenn asn Pomuss qeimyn wHmb 1804 b
S epsitprag QEHlpenpub asguL e FbuBSLLLL &) 7
A) QubGprenT Clansgnge B)  Has0laneme
C)‘ &h D) efgmeus Smwemtib.
Bengal Regulation XXI of 1795 and Regulation III of 1804 dealt with
A)  Patricide B) Infanticide
C) Sati ‘D) Widow remarriage.
108. &psasmsupmien 61 sflwne QurmfhSlugeneng ?

A} sirdwsoemwiiy 40 sug bl —  dlgmwe LISHEML S Eib5HEHE S

LSSlepL L0
B) 73eug sirdwesobiy Smpssh —  psricd DL ST
' 2_(1H6U N& (&H S0
C) 74eug) Syrfweveminiiy HmSsn — Qg)&iﬂ;g@é&@ LEhETWSS (P
Dj  sirdusimviy 5l o —  meonssny o Aenwad.

Which one of the following is correctly matched ?

A)  Article 40 — Regeneration of Village panchayats
B)  73rd amendment . — Constitution of Nagar Palika

C)  74th amendment — Three-tier Panchayat Raj

D}  Article 51 — Cultural rights.

:
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109. .:(1 +x§+x2 +x% x4)6 Pen slNeunssgdled x5 Betr Gemrad

- A) ?56 ~ B) 246
Q) 526 | : D) 524,
The céefficiem of x° in the expansion of (1 + X+ x2A +x3 4+ x* )6 is
- A 4 m256 . ' B) 246
! g ;526 D) 524
e 110. dls@qq'@mmmm;ﬁld) SBPEI 16 2 Wfen urgamIlLwrs Hapaig ag ?
A) G\asnmt..&ammm : B) geodf
),, f!,lbﬁlf@ : | D) upefié@ehmser.
Wthl‘; one of the following in Tamil Nadu is identified as biosphere reserve ?
A ;todalkanal B)  Nilgiri
C) 3 Yercaud _ _ D) | Palani Hills.

111. @@Gwn@@unw&aﬂm &@umuuﬂs\) ghempowb, Srieiwvwd LHEb
o (_I,DLbLDu.ll.b Cla et SIEBOLIL|EEN wenpGuw

A) 1’élsmfréh_®assn s Gum_evaset,  paoflaney  aamGLrevCILND
;f,]uéb&ﬂﬂwm | | |

B)'j" “?é-.ai,smq.(‘o’um_soﬁm, sweCGanl, simay Hu,sefiusvaer

Q) ';@gd)ﬂmm et GLnenv@uind By, seflwst, meCanL, é]syffrélt.@a;si'r

D) | E:‘g‘!,simq.(g|_m|_si>assh nalan, @g,si);f,lmso aremGLnev@uind Bupseaflwe.

- : -~ In, the embryo sac of angiosperms, the structures having haplmd diploid and
tnplo:d chromosome complements are respectwcly '
A) . synergids, antipodals and primary endosperm nucleus

. - B)v ‘antipodals, zygote and polar nuclei
o/ _-_prinﬁary endosperm nucleus, zygofe and f.synergids. |

S
&

D) - '!antipodals, zygote and primary endosperm nucleus.

. A ‘ ' , _ - | Turn over
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112. @vss Aauiiy siemefen cumpmrsh &reob sreucusnay 7
A) 120 wrl s B) 90 mr genr
C)  2-3 prlser D} 20 mpmisen.
Life span of REC is ,
A) 120 days ’ B) 90 days
C) 2-3days D} 20 days.

113. fpgiewtlesfl mErsfagemss GCoiggs QurmLaam (paer(pseled aBs LETEH
s QUSligsstul Lg ?

A) 1921 B) 1923
C) 1927 ' D} 1931.
In which year were the remains of Indus Valley Civilization first discovered ?
A) 1921 B) 1623
C) 1927 D) 1931.

114. 2Cs186 Cussn Guead udupsITl Csst Guab abg wamsudlod
Camu@mdmg ? '

I ugpenug rrdlen Qrean® AHRSHGpenn

I ugpenusg Caiselesr Hrdwed s faeflen ukGapha

1L 2sveor uflesd om pL-H LD .

V. 2fleveor uflassd b eitfleunss Leflsenen LILIEDL &560.

Bawpis : _ _
A} L1 whmyb IV sflwneneney B) I, II whHpd 111 sNwneneneu -
C) TwHmib I sflwneneneu D) 1, I whHhmb IV sflwrensneu.

How does Ashok Mehta Committee differ from Balwant Rai Mehta Committee ?
L 'I\Nq—tier system. of Panchayat Raj
II. Official péfticipation of political parties in all Panchayat elections
I, Zilla.Parishad as executive body '

IV. Entrusting development functions to Zilla, Parishad.

Of these :
A) 1,1 & IV are correct B) I, 11 & HI are correct
C) I & II are correct ' : D) I, Il & IV are correct.
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115. g5 5|ﬂu_|rraz Qun@g,,é'lu.;mmgj ?
A A} b gn.hasas Camleo —  UMLqWIneOR
o @@mu%nsm —  psom
C) @gjl_uﬁlamm ' —  OFn
g;ﬁ]mng:.bsuﬂm sovemn —  Ol_svedl.
‘Whl%lf}lone of the following i$ correctly matched ?
' A)-. ﬁolden Temple ' —  Patiala
B) lion Pillar — Agra
C) éutub Minar ‘ — Mathura
D) Humayun Tomb —  Delhk
116. srgi,g, LDITG).II_I_LD Qi Gl Huss open swrflidé @,ogsbrmwu.mmgj ?
A) G;a,;ru_lmqg,gmr - - Amowi
C) :egﬁ@g,j;_r,&r'r o D) Sean@ase.
Whlgl} ;lS the leadmg district in Readymade Garment industry ? -
A) go;mbatore B) Tirupur
c Virudhuﬁagar D) Dindigul.
117. Jga,aé%mu aunsdlunisensms seuefias : ,
Jm.'f;;j HA) : &G M6 assmquunma.aﬂe\) B ks a;mguﬂmné.@m é,mmms_ar;
N %?%%m (R ;Elﬂstn Blerasniiy wrfled eredor uS]a,sm.b @mgjeq (<2:0).
wad £Gg> @gﬁluﬁh.@mm ST g6 sflwren elenLsnws CaibRs0H :
A) (A) LoHmyLD {R} Grean@ip &f, Gueh (R) swurugi (A) eSine gflwnem
eﬂsndsasm _ :
iﬁ{(A} Ln,rngltn (R} Bream@w of, Coeubd (R} setrug (A) eOp@ sfluner
ot €& & LD 66V | .
C) [(?4) &fl, guevmev (R) geumy
D) iéﬁ)&gmy,%mud) (R) &fl.
3001 , - _ | x-{,.'féun'kover
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Consider the following statements :

Assertion (A): Among many ordinary ionic solvents, water is the best ionic
solvent.

Reason (R):  Dielectric constant of water is very low ( < 2:0).
Now select your answer according to the coding scheme given below :
.A) | Both (A) and (R} are true and (R} is the correct explanation of (A)
B)  Both {A) and (R) are true, but {R) is not the correct explanation of {A)
C) (A} is true, but {R) is false ‘
D) {A)is félse, but {R)is true.
118, Lwn FMbSS SENEMDSSNEH SIEOurid
A}  eTeosLneN SHMITIUNESWIE SHNN ailheug)
B)  sle0sL gneln Setenensg sulen smmicug)
C) yGririLneflein Canewt 2_fs1b
D) Kyl e g,s&r@smﬁ S1Gar sHmICUF!.
The diamagnetism is due to
A) orbital motion of electrons ' ) . :
- B) spin of electrons
C) angular momentum of }sr'otons |
D’}. spiﬁ of the neutrons.
119. &psastn._ sahmisenen ai,u'.l_e-s :

L. Quemeonen apHmg 468 LHID Glwemeonsw Feyss 60 stesrGLimiy
2168 sCaEnsTiHeT YLeui.

. =268 sCarsrisedr (pgeond 'a...s\s&L'JGunq_r,s'»@_, OneE simed
Siauwtet) LHSSULL LS eadise Cunyngesi

. 9468 sCansriset Heonug Qusssang geusdeni
V. =68 #Cangrisst sshdlrl CunrrriL sbled LkiE Clansdor_smi,

Beupgyer : .
A} 1w (b sflwurens ' B) I whHpd 1T sRwneneney
¢} LI whmub I sAwreneney D) simenssib sfwrenene.
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Considér;thé following statements :

1. Maulana Muhamrned Ali and Maulana Shaukat Ali are known as Ali
brothers

Ml brothers fought agamst the humlhanon of ’I‘urkey after World
WarI .

Hi. .Ah brothers started Khilafat movement.

. . - IV. ! Ali brothers took part in the natlonal movement..
of these

e UM alone is correct | B) 1&Ilare correct
C). _ I,.,I'!_fa Il are correc't A D) Allare correct..

-120. thrg,gi&}g@uq Beotgifed Birurasmbd Qumib fevgHlehr sgelzib
e A)  11%- 15% . B)  16% - 20% .
o ) 21%-25% D)  26% - 30%.

The gross 1mgated area as a percentage of gross cropped area in India, lies
within a r?nge of

| A 11%- 15% | B} . 16%- 20%
- 0 21%-25% D) 26%- 30%.
. 121. @m Qggggzmnu .............. &@H& Fiobd, | |
) A) 1,000 watts . ~ B) 10,000 watts
C) 10,00,000 watts D)  1,00,000 watts.

‘One ‘megawatt is equal to

CyF : .
A) 1,000 watts | B) 10,000 watts

C)  10,00,000 watts D)  1,00,000 watts.
122. aimrms‘u;ﬂljzl unrSwnt wenphs HIeT ‘ |
o A 9 Qafﬁl;lbufr, 1921 B} 10 QeuiLibui, 1921
g 11 Qsii_bui, 1921 D) 12 Qeubui, 1921.

Subramgm_iya Bharathiyar passed away on

A)  Oth September, 1921 ° B}  10th September, 1921

C)  llthiSeptember, 1921 D} 12th September, 1921.
EZ T N - : [ Turn over
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123. sjguuemi. e fanwsdr Qsr@&esuL B etsr uGS
A @ndu siwfwe senwlile Breiamnd LIS
B) @pdw srdwe smwinlen Srem. mb unab
C) Pidw srdwed emwialler apsimnbd unsb
D) @i srdwed emwliiier gmnb unsib,
Fundamental Rights are given in
A) Part IV of the Constitution of India ?
B)  Part 11 of the Constitution of India
C) Part IIl of the Constitution of India N
D)  Part VI of the Constitution of India.
124. R wppid r aeug gCr mvwsmss Qerdm. Qo e nssllen grhsedr
whmie Qeuefleu L gdler abmenay, eeaul L gler sppstensusiiL. Qe
Bt siflen ereflled R r s ansins.
A) = B) 2n .
. 1 i 1 v
C — D ——
) n ) . 2n
Find the value of { R— r) if R and r are radii of the following concentric circles
and perimeter of the outer circle is 2 metre more than inner circle.
A} | T B) -21?
o 2L D} .
7 ‘ 2n
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125. Qaen,sm USST . |
A) mfiuauu.m m@u:ﬁlmﬁ B) e&sdflw Geow
C) gﬁﬁla’fr D)  Symoesri,
¥ '*“Gautarﬁ“'fBuddha wasa '
A) Vmshya ‘ ' B) Kshatriya
) Q) Sli.ldra - D} ~-Brahmana.
: 126. £@$&6&Tl_mmassrﬂm a8l s_L_neug HL SHed s:mggm Qarrmmuul_.sﬁ]s\)smo ?
A eiosd
B) :l?,é‘émmmmmam
0) .éésbaw
- D) &m@gmm wisd (1) seeflenpeay.
h - \ﬁl;:ci}%%jectlve of earlier Plans was rejected in the 8th Plan ?
A) Gf;;wth "B)  Modernization
C) | 'Sé)'g:ial justice D}  Self-sufficiency.
' 127. gmdgggﬁiﬂuﬁQm@ggmm st (RiNig Sageui
e A)  eunisew B 4fs
S C) ”‘%ﬂil&m D) ﬁlus;sl_ﬁ.
,. s
Reverse transcnptxon was discovered by
A) ’?\’vétson B) Crick
Q) Teémn | D)  Procter.
. 128, eﬂlﬂG,éh;:LEm el steTLIZ) SR 2 L6 QgminysnLwig.
A) ﬁing)_r_l)rras@mgn ' | B) um‘af@;bél
Q) *qgsﬁsm s _(Huun® D) GurmLasflsn giafliy.
. Gres_bg%’s law is rell.ated to |
A) dé‘ﬁcit financing B) circulation of money
L A C) crecht control D}  supply of goods.

129. LSlru@m?ﬁn FUTENLSTTS Siunend QebwnLL L EBrer

A) g@m 2, 2009 B) 299eb 3, 2009
Q) gg?m 4, 2009 D) eg9etr 5, 2009.
o [ Turn over
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Meira Kumar became the Spéaker on
A)  June 2, 2009 . B) June 3, 2009
C) June 4, 2009 D} June 5, 2009.

130. wrrsghw an.t'_lq.msﬁmeﬁldn sﬁggéélés@bl LSl etrew (Heu mTen i pl 60 &rﬁmnsur SrewTid
615 7

A) (gumq,surr unmn@qnaﬁ]sﬂ Solyld ieurs) WS WAGeu e Ln;_r)gjm é]gS]uJ
BHeng 1GHIS TTas b DL ulled o6 2 6 FeiorenLutb.

. B) @ndlurelled gnul L sridlGeoowflel eusniréd
C)  Bi ggrui whmh Sisndhd HACunen e
D) Beubmysr sigiablsoemen.
The immediate cause for the fall of Maratha confederacy was

A) the death of the Peshwa Balaji Rao, and the civil war between his son
Madhav Rao and his brother Raghunath Rao

B) the emergence of British power in India
C) emergence of Mir Jafar & Mir Kasim
D) none of these. -
131. enmshiaprs HLBsseafler 2dren geour Gesosst srs@n apmiGuwrs
A) @enpaGanane B} Qensedlen
C)  eniepifien | D) emgynsedleh.
In the islets of Langerhans, the alpha cells séc_re£e the hormone
A) Glucagon B) Insulin
C) Epinephrine . D)  Thyroxine.

132, 2.fi  oemuliféd Spssdnsubhne a5 osadmenen  aBiSss e
uweru®G g ?

A} B B) M(.Bmu@(‘smm;ﬂsin.

C) DNA D) @enGansiv.

Which one of the following is used for oxygen transpdrt in living system ?
A} Water B} Haemoglobin

C) DNA D) Glucose. .

|
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133. @lq.ﬂ.lﬂ?& gmmsumlr CotpCls@sEh Caige @Grnbod Bib QubBeuGua

A) u\mu@mmgpg,gls&r Brau® olmaussfled 2 den CaipOsBEsLILL L
=L@utﬂmﬂ'&6‘h whpib wrflomsa Cuemea o pufearisd

_ ‘B) unw@mdn;ggﬁdn Bram® sweusdled eeten CaibOsO&sILLL
,, ' : n..@ UnSleurfraei WHDHID wiBleoruser FlLsmiiléd - o emen
' i%ﬁﬁ&g@&&um_; ngm.‘ﬂmw.ch :

C) %ﬁ;@g@&guuu_ p&Emeney wHEh wrBlerissmenas o mIfeTiser

e

PR E P
. «D) "Gﬁélu.l' Cahzed absmsmmm-
The Presxdent of India shall be elected by the members of an electoral college
cons:stz_ng of :

‘A) elected members of both the houses of Parliament and the Legislative
Councﬂs of States :

B) elected members of both the houses of Parliament and the Legislative
’AaScmbhes of States

C) elected members of Lok Sabha and Rajya Sabha

g.!-

D) Electlon Commission of India.

. }34 wélsmr ‘m&,@ B sden &p Hrmwiyp QUENSH LWHOUD ..o, 60
P P essu?a,@ Clgm_ria CeustarBud. '
| A) &rjnmuqm SHEHFE a@mm&m B) sucwile eurudlsen
T o &!mu: auenisd curiud) D) Qeapner aGsmub genhe.
3 .
. i"f':Rural women can avail the benefif of Mahila Samriddhi Yojana if they open their

account in
A) - Rural post office B) Commerical banks
C) Rural development banks D)  any of these.

135. ﬁlﬂhl.ll.;;?h' gaﬂcﬁgmaﬂ& Qumw sfrelss semeofien wrHpn Carrmwiors |

A) 0005 A ' B} 005 A
’ c. 65A ' | D} 1A
The max:mum change in wavelength of the radiation in Compton scattenng is
" approxlmately
A) 0005 A | B) 005A
C) 05A _ D} 1A,
' 7 ‘ [ Turn over
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136.

46
CgAw cuenhéde BP&ESI6H Feneoeui Wi ? :
A) B gemwsst é) Wrgw wiHa
C) Sl emwssi | D) Gevrgsun surprusi.

'Who is the Chairman of NDC ?

137.

138.

A) Finance Minister B)  Prime Minister
C)  Planning Minister ‘D)  Speaker of Lok Sabha.

2009 g amBpLsdHbhsre sblp DesfusHbans srgem sbworst eHoms
wnhé@ SHenLSs55 ? '

Al emeurqpssl | B)  euned |
C) Heugnusfl D} Oguwanigebr.
Who got Satdhana Samman Award for Tamil literature in 2009 ?

. A) Vairamuthu : ' B) Vali
C Sivasankari D) Jayakanthan.
SOREI_G (phdw e Hlenssd) Hameoowd yemwbgidrer G b
A QpuiGeued B gissiéGn
C) eleirgmmi D) CGui @

" The major thermal power station in Tamil Nadu ié ’
A) Neyveli - B} Tuticorin
C) Ennore D)  Mettur.

139.

SOPEI 16 Qped 2pusSutled swri 40 sxaigd abQsEs WL Ksafléd
e_pusdurdlenmg ? .
A) AmsArmivenefl, HHROBLGausd, Qg,sin Syhan@® wHnib Greub

B) seEpenayl, Qehssouc.(®, e spHsn(b wHnIb weienT

C} HnQApsoCauel, CanubLsgnt, sareflwngnf wHmb LHSCar L

D)  Suresrsyrn, Carwbussnt, Sussrdoriiustatl még;m Geeoih.

Which one of the following districts account for about 40% of the Tamil Nadu'’s
rice production ?

A)  Tiruchchirapalli, Tirunelveli, South Arcot and Salem

B) Thanjavur, Chengelpat, North Arcot and Madurai

C) Tirunelveli, Coimbatore, Kanyakumari and Pudukottai

D) Ra:nanathapuram, Coimbatore, Tiruchchirapalli and Salem.

'
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140, £Q$a‘ss‘&§n_ S LUksmmS saucaiss :
ah.gpg (A) phwed Garymb Crrrsley v_steng,. .
esrnysmmb R): @puaLwsHo spped euse @8r Samauiicr Bagpb.
&Cup @_I!S]LJIII]L,@G!TGIT @;ﬁluﬁ'a_qm shwnes sﬁ’lml_mw,s CoipCls® :
: ":5;1 Fﬂfﬁi hHmib  (R) @Usm@m &, Gmg‘nm (R), swemugi (A) @ sfwnsm

sﬁlmﬁam

B) (A) whphbd (R) @usm@m a1, Gmgmm (R} ewsugy (A) s&,rb@ Fflwnen
eﬁlmaasmsum

C) (A} &, syeomed (R) seum)
“ i) - (A} SHeupl, SLenred (R) &,
Consadgr the following statements :
Assé‘rffigr%l (A): The pyramid of energy is always erect.
Reason (R) Flow of energy in an ecosystem is unidirectional.
Now Select your answer accordmg to the coding scheme given be]ow
A=)' | ;‘.3::)¥th (A} and (R} are true and (R}is the correct explanation of (A}
B) Blgj;h {A) and (R} are true, but (R} is not the correct explanation of {A)
I C}  (Afis true, but (R} s false |
o D)  (Ajis false, but (R} is true.
141 muu@] aombm)  (psepuiiss  BemiGiuhasb Q&tusug,p@ £wesassdm_ peom)
it 3 é]muurrm (pempuine; smsuu®Eng ?
A} G\x.fm ann@gaaﬂmm B).  oyeim YQyn ;ﬁl&é,étﬂmm
C)- | GID.é:I'_.Gl_fl'Iﬁ]ﬂTHGLb | D) | Sefsu(d Glaeveiv.

For makmg transgenic animals in fertilized egg, the best place to insert trans-

¥ kgene 1s ‘In
" A)  female pronuélei B) male pronuclei
P C) cytoplasm D) . cleaved cells.

142 Jl‘.paaassim._sug)gjm sr,r_i',gsg, g,auﬂmm LD6YOTL_60 gnmso‘?muu@ggao (yxmmuﬂm
.k gnmsfﬁn Qeuwtn@Spg ?

A) Q&n@maﬂmm B) eoL1 Cresflub
C) Q]tﬂssﬂu_lm ; D) @issBISD.
' ‘ .‘ - [ Turn over
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Which of the following elements is purified by zone refinirg ?
A)  Germanium : : B) Titanium
C) Aluminium D) . Zine.

143. 10" watt giguy SO GsneaL. gm Gevst spHenp, 107 4 cm? (H] WTUT- (]
Qanam Clunmeflsnr B @alssuuBGidpg. cmu(‘éurrgj @eSlwu qsim‘ﬂu‘ﬂm
SLHDE0. LrwD watt/ cm?® 60

A 10* B) 10® -
c) 10 ‘D) 107,

A’ laser beam of pulsc power 10'? watt is focussed on an object of area
10-% cm?. The energy flux in watt/ cm? at the point of focus is

a) 10* B 108
10 | D) 10%°.

144. wmwoeUTsHe Gr sdend guen asgsenen Camnldrgen o eremen ?

A) 10 | - B 9
C) 5 D) 7.
How many monolithic temples are there in Mamallapuram ?
A) 10 | B 9
Q) S | D) 7.

145. gllypsssled ora L@Ulﬁlmﬁ&mﬂm L6l @tum@ugm suWg Uy S5- 6\51(:_1,1551.
58 o8 e WhSFULL L e

A) 1976 , B} 1980
C) 1978 D) 1985,

The retirement age limit of Government employees.in Tamil Nadu was increased
from 55 to 58 in the year ’

. A} 1976 B) 1980
c) 1978 ‘D) 1985,

146. QeauamauBen QaualiCuy BusssHarGuig emiE o den  Sleppesneme
SN&ESULIL_LG ?

A)  ETES@GIg . B) wevnstig e
C) Smeun_enem - o D)  uyperfl.
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Durir‘lg,‘t.he Quit India movement, the village people attacked a prison at

H

A)  Karaikkudi _ B) Pulankurichi
C) Ti;ruvadan;i D)  Palani.
147, 2008 Gpi> SR SiemwBlaanen Crrue ufle QGubmeut
. A) %a?smrg’luﬁ il g sigevenfl B)  Clamrred® & amnass
C)  ume Erdwen D) o6t Guofl HevLne.
Nobel Peace Prize in 2008 was awarded to
o . A} _President Martti Ahtiéaa;i B) . Harald Zur Hausen
‘C) . P;au_l Kn.igman D) . Jean-Marie Gustave.
-148. -ué;‘é?i Qw&mb siblpasdles Cansdhw sreotb |
A gglﬁi&&ll'ﬁ\)lb : B) wL6véveuilt &6ULD
C) Canpitser ST, D)  UNERIgWIRSET &Ievth.

Bhakti :"moveme‘nt in Tamil Nadu started during the period of

A) Sangam ‘ . B) Pall‘gwas
! - -0 j_%holas D) Panc_iyas_
149; @,r_sé\m Sirflweneowntiy Apiiy s34l 370 sibs wiklwEHhE s iymiwg
) A) Lé_]GEHU‘Iﬂb : - B) &8N '
Q) Gupe eumsrad D) ool LHMID Sresii.

Article 370 deals with si::ecial‘ provisions with respect to the state of
A) ‘I\:_/Iizo_ram | : .B} Assam
) ' West Bengal | D‘) Jammu & Kashmmir,
150. @Geneh ginmrwreng Geudnfled et GleusfiCuipicusned Caretrmdngi
A) .'@wG.Lpneuﬂu.uh ( NHy ) |
B) ssouieL gyhehen® ( SO, )
’ C) L;CFC He ( @Gmy(ﬁnn quﬁGun SITLIETTHET )}

D) . wsefflub SHGwrmL®.

[3do1 : [ Turn over
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151.

152.

Ozone hole is formed by the release of

A} NH, Bl SO,

C) CFCs D) Mgl
eSSl Qgaiasme Nfdlmeng Qsr_mweut

A)  @rnongpigan B) Uerenen Geonsansenfiwim
C)  wesreunen wr(perl D) Geaugrhg Cadai.
The founder of Tenkalai sect of Vaishnavism was 7

A) Ramanuia B) ‘ Pillai Lokacharya
C). Manavala Mahamum D) Vedanta Desikar.
Bsl eurfls e flonw ubel snpiflms

A) B ghigen B) Ulgrweniiast

C) gy &wfH ' , D) yomemriugen.

Which one of the following deals with the Rights of inheritance ?

" A) The Upanishads ' B) The Brahmanas
C). Manusmriti ‘ D) The Puranas.
153,

Slewmeumeuss epeip SapmISEHL Subeps Ceriipg L 1, 1, IV e
aetremfli i L EmuehnE WP 4YSHEHID %@m FaphpIset N end

| Qarsn®, abs (Puejsa Qupsssae aers Shoneflgf@s :

a) abg srEnb Guenm 66

b eps Guenmeyn Quendiéo S{60

c) SmanssH SyluutensEnb Fuetrme,

(Pig-6Y 6T ;-

L floo srenaer o flLLTsTSET

I, ks Quesdigud ouflliLmesr 6de0

. es Guemmeayb. ypliiune Hi6oe

IV. menss sreta@pb Hfitiunsnas.
A) simeggib QUDSSESE B) Iwpgud I Glupsgssen
C) L1l wpmyb Il Qupsssse D) @eupmer sigyaySleoane,



154.

158.

T 156, 8
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PN

- ,:!Follovglng are three statements which are followed by four conclusions

numbered as I, I, IIl & IV. Assuming that the statements are true, decide which
of- the conclusions follow from the statements :
g. a:)  No paper ;s pen
;?;) No pen 1s pencil
. @) All erasers are papers.

4
! 'Conclusions :

x
i?‘ilf ~ Some papers-are erasers
-; I; No pencil is eraser
I‘i No pen is eraser
FI%f All papers are crasers.
A) F “11 follow B) Iand II follow
C) “'L I and Il follow D)  Nomne of these.

a m;nﬁm b @reioi(h Hems (pUp s16vT. ab = 432 wHmitb b = 3a eiafléd (a + b))
@m m,é]uq s1ebieer 7

A) 31 ? o B) 24
) ls%e o D) 48.
h Lét ?i%nd b be two positive 1ntegers Ifab=432and b= 3a, whatis (a+ b) ?
A} © 112 ' . B 24
e ;;,6 : D} 48
m)suml_m BleveSlwenii g &Gemny elmg Carsnms
A ;;Gb (peom B) @yeaw® (peop
0 e g D)  apsiipy (peop.
. sm_;pc_fpg Millionaire has won Golden Globe Awards
A) Ence B) twice
) ; ifive times - D) thrice.
r,\); %urmeﬂuﬁ]sin Cuiburn_ @ @Hludlsrug, @gﬁma QuImeTIZITY 2 60&5Hld
lA) -{f‘_%ﬁlasu Qulwg | B) JdasfAfwug
. C) }:g ;?lrsﬁm_neugj Ouflwg) | D) ' gpbgneug Cuflwg).

[ Turn over
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According to World Bank’s latest devc]opment‘report the position of the Indian
“economy in the world is the

A) largest B) smallest
<) second largest D} | fifth largest.
157. eiflweneorts un.mg)a,sh .................... 6160110 amgpésaaﬂu@é]s&rmsu'r.
Al BreuiLabsr unemmessi B)  (ipseemwdl LTEOMSET
C)  =P&EU Qnm;paas‘n D) &riCGunBem . urenpsst.

lgneous rocks are called as

A) secondary rocks B}  primary rocks
C) stratified rocks D}  carbonate rocks.
158. g &Ml 7

A)  Beowr eeigmid eufl Quagplsallelr Bl eu@gelssiul g
B) Hevwr aengyibd eull goayefluleir Bgy efldlssuulL g

C) Mevwr eretignid eufl Crmoneflu Bl el (mhg Bms@od Cewwiut
Bena 851 eNfleasiin L g '

D) é\siuuurr aengpid eufl GeveonBlwii Hevevngeuiser Sg eSHsanuLg,).

Which one is correct ?

A) . Jizya was a tax levied on commodities

B) Jizya was a tax levied on textiles

C)  Jizya was a tax levied on ornaments imported from Rome
D) Jizya was a tax levied on non-Muslims.

159. fgmev suemyuL b eTehLG) e1BHEGL LwsTuGEmg) ?
A) @rrsm@ wrdlseaflss 2 meneu genenen Clawiw ‘
B) Qrewm® wrfleassdan Guuwnen e pells GQ"@ﬂ;ﬁ.@m SIBl@D) snew
C) Brew® _u:'nﬁlassr_ﬂsin' 2_meletn emwLILS Srevor
D) Qe wrdlseflés 2.memeus an.Pb soarfllss swsrum_en_ wHIGH

Qe gL LwissTL@ib.
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Scatt;’.r idiagram is useful to

A . m;aaisure the relationship between variables

B) | $ﬁ(:lt“fagnose the presen‘ce of relationship

C) détermine the pattern of relationship

D) estlmate the mathernati¢al model shgtving the relat10nsh1p between two
varxables

160. gured .%009_ - madw srsaflsn Berbloufas aflymen wrEr® peL QLB

o BETD 1}
M | ; - A) ;E\%bu.lrm& _ . B)  umeh
- ,-" C) Q&gsu?’curr | ‘ D) evedrLeir.
. E | The U;N:Jf\ntl-Racxsm Conference was held in April 2009 in
B ‘ - A} New York . . B} "~ Bonn
’ C) .Cfé'neva D) London.
161, (C1f + (2P 4.t (- oir om0
| _ A) n(n +1)(2n +1) g N (n+1)2n +1)
6 - 6
2 SO
- - (E%ﬂ) ) I ”(n(nz ok
What :is &he sum value of (~1)° 2R h a2
A) 'n(in +1)(2n +1) B - n{n+1)(2n +1)
o 6 : 6
+1)\?
Q) ( ”}(n2+ 1)) o ’ D) _-(2(_’_"2_)) _
162. @;&@mmﬁ]m mg,é]u.l suridlullelr Ceuemevaemen Q&msuu(aggjm urtid)
# A) mg;,éhu curud) B) umg oG eurdl
| C) 1ﬂa=frsu curd) | | D) (A) whpib (B) @usm@m
' ~* Wthh bank in India performs duties of central bank ?
‘A) Central Bank of India ' B) State Bank of India
. ) Reserve Bank of India D) Both (A) & (B). |
: ‘ _ [ Turn over
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163. £P&ea0L Snphnisener gulis
SASSTbUNSSD
L eureonpmy &revggis@ (PHOSW S1605F OFFhSEHSHE HopQuHnhE.
I. @Ewysie aFFrsEnsE Yaspolubmsi.
. urste Canrclsaens@ Yapoiunhms.
V. sauEfleamsd Lspelubnsl.

Baupgysir :
A) Tl sflureng B) 1 wi (b sflwnesgy
C) 1 wHmb I eMwnsseney D} IV ul(w sflwneng.

Consider the following statements :
Attirambakkam is known for
L prehistoric vestiges
II. Iron age‘ vestiges

1II. Early temples

IV. Burials.
Of these : ‘
A) I alone is correct B) 1l alone is correct
C} 1&I1ll are correct D) IV alone is correct.
164. @& Nwetr Cueogen QQJIJUL'D.' .................... samSELLILL_ (Pereng).
A} 4000°C B}  5000°C
C) 6000°C D)  10000°C.
The surface temperaturé' of the Sun is estimated to be
A) 4000°C ' | Bj 5000°C
C) 6000°C D) . 10000°C.
165. Spssan cunsdwnsenms seusilss :
Fnhmy (A): 2605, Guetn efflgnssmmn idunales opamisE srgswLIGa
Bwedpg. '

sirewib (R):  @uheng Cum sreugdc Boiuy sifewns Smsdns.
80y miudlL.(ster @bl ine sflwuten dlenLsmws Coibls®

A)  (A) seumi, spevnev (R) &fl

B} (A)wHmibd (R) Bress®ib seum ‘ A

C) (A) wHmnbd (R) #fl, guemnev (R) aistLgy (A) el eflwnes eflenésweden

D) (A)whpib (R) &, (R) esirugl (A) 8@ sfwnen elenésib.
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i
& :&a@bﬂmder the following statements :

166.

' Assertlon {A}: Sex ratio in India is in favour of males.

Reason#(R’) There'is high rate of mortahty durmg maternity.
Now- seléct your answer accordmg to the toding scheme given below
A) 1}: (A} is false, but (R} is true

B) Both {A) and (R} are false

| Q) i%gth (A) and (R) are true, but (R) is niot the correct explanation of (A)

D) § Both (A) and (R} are true and (R} is correct explanation of (A)
msvﬂgsin'srr @gS]US’L.@ m@uq, UNFPA seors &L ig et Uiy, S10psis
A) SESE 11 B) 25.57

Q) §27 45 | D) 4944,

The value of Human development index, assessed by UNFPA in Tamnil Nadu state

was T Uf
A) fsf-l 1 B) 2557
) 2; 45 ' D)  49-44.
167. 2016 @aﬂm@& Cuimiig LF,GU)L_QLI'ID 2 et _tb
A) ,1@%&11“"5 ‘ | B) Bl ces
C) susthm_.sur ' D) ACwr i ClgeafiGra.
2016‘%5‘ Olymplcs will be held in |
A) Néw York 7 B) New Delhi
C) “F’:Izo?ndon : : D} Riode Janeiro.
168: ?jr_r,l__&gﬁum wHppb  Candrgeflét  smllLenOY . P
a{;ﬂwuu@ DIl
A) §L16ﬂ5@'lﬂlu Ganengelr B) - Glufiw Ganshras
C) @iﬂu.i GO Sewiy D) QBLEON susDETWILD.
The congreganon of stars and planets is known as
A) . - ?;rrestnal planets B) Giant planets
C) Solar system - D). Spiral nebula.
169. ,rgg“la;&ugﬂmu.l ‘é]IIITG'fI]I_ SYPHID 16T JEMIPSHELD §nmum§,m§ G327 Ssiled
: Iﬁlﬂ'&rlﬂ‘&,g, 23,6901 (B :
A) n{lg4o ) . B) 1942
C) ;1943 ' D) 1944.
o o " [ Turn over
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The resolution to call the Justice Party as Dravida Kazagham was ‘published ‘in
the Kudi Arasu in the year

A) 1940 '- B). 1942
) 1943 D) 1944. |
170. @pduneled o er erbs wrHeoh s GzmPhowwnéalu’ Heteng ?
’ Al TS ' ' - B)  wsngneiggIm
C) e sHr ArCsab D) SWOPEIG.
Which is the most industrialised state of India ?
A) | Gujarat B) Maharashtra
C) Uttar Pradesh D) - Tamil Nadu.

171. NeneumeusmeupHpyst SIPRILIg60 e ullflesr ungiartSL b ssiiLig) aig ?

A) LOGHTEBTITT 61 60 6TT(SHL ..M B) &n&sissg

.0 mhgn Ggell D}  wse&mss.
Which one of the following is Bio-sphere reserve in Tamil Nadu ?
A)"  Gulf of Mannar B) Tuticorin
C}  Nanda Devi - D) Mukurthi.

172. siMenk isiorewnn S.(p.&. wrprlsnL afibd) afiiLsEans snl g Q@hLb

A) 1967 B} 1985
O 1960 - D) 1992.
Arignar Anna organized a DMK party conference against the impositon of Hindi
in the year : '
A) 1967 B} 1985
C) 1960 D}  1992.

173, QUEHDLLTIL Fhs &TeHHe BeosHwinisen Speumnm aupsuULLeT ?
l A) 2 emymemL ' B) url(®
C} Brs B D) &hUMSIUNS S5S..
Mos't of the literatures éf Saﬁgam age was written mostly in the form of
'A) prose B) poetry

C} drama ‘ : D) fiction.

|
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174. &. . @lrsn‘uanuﬁluggﬂa\J sBlp syemaEEh CluensEhib @@56&'{!{&3 @@;_r,gmﬁ.
cgqsufraash m_sqsnm) S Qanememiitic L Gung;

If Bpla LILINIG VT 86T

e I ppetegdled BLsms I Clenenantise
HL: dlwndisenen aan®Wygsrisen
IV:; dunasner @emwonsdeni,

, Bapgysr :

CA) 1 m,bgjw II sflwnereneu. B) 1 whmwb I geupreneney
- : C) ' ammggjm #flwrsneneu D) LIl whmpibd IV #flwrerenel.

. There were Tamil men and women pnests in 2nd Millennium B.C. and when they
were under the influence of God

Lo they sang and danced
II. predicted the past
- 1. - diagnosed the diseases

IV. cured the illness.-

or th_esé-':r
. A) | 1 & II are correct B} &Il are wrong _
C)  all are’correct D) * I, III & IV are correct.
- 175. Semaigpn Rrlgeiiasilesd  qendled | e @B oflsnter wenip

5nsmuu®eﬂsmgpgu ?
A} FBPEI@, sIBILsT oo e SHT0 ljltr@g,&m
B) wgglwu HrGgen, LEhaml wHDIb e A7 VrCsaw
o Q{Iu QrCsssden s_pasor, Hiwss Qg,n;rr&é] wened wHMID efen

D) Gmg)@ Qanisdd  weeler Cuhe sLHEemr, aLdpss
Buowwemeolisn 21 LEGHsd LHIL Coameown GempSeT.

. The hlghest rainfall occurs in which of the followmg regions 7
A) " Tam1! Nadu, Karnataka and Uttar Pradesh

B) ‘hf[_;aghya Pradesh, Punjab and Uttar Pradesh

c) - Cbas?tal Andhra Pradesh Eastern Ghats and Orissa

D) West Coast of Westem Ghats ‘Sub-Himalayan areas in the North-East and
the hllls of Meghalaya.

| (3301 © [Tum over
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176. Welteupidb Fahpsmen aeusf! :

L. GQuflwrr m.Gargr amudlrey s Al ®mEs swrmhu s Ass
Qlaetimmi. :

L. Qufiwi m.Geu.gn sridrsi sl mb s BHlesr AswE Qasrpni,
L Quflwst &.Cou.gr swrrgw sL dlelmpe BHes Aa@E Qedps.
V. Guflwni m.Cou.gr smudlrev s AulleNmpg £.p.5.60h© Clesrprt,

Boauppyer :
A) Tl sflwreng B) 1wl (b sfluneng

C) 1, I whgyd IV shlwrensneu D) simanggib sflursieneu.
Consider the following statements : '

I.  Periyar E.V.R. was first in Congress party and then he left to Swaraj

party. _
II. Periyar E.V.R. was first in Congress party and then he left to Justice
party. .
II. Periyar E.V.R. was first in Swaraj party and then he left to Justice
party. ‘ '
IV. Periyar E.V.R. was first in Congress party and then he left to D.M.K.
party. ‘
Of these : .
A) I alone is correct | B) I alone is correct
C}) 1,1 & IV are correct ' D)  all are correct.

177. 2004 gy sypeter®@ Sugeufl 5-1b Codl penL LD 2-wviey LNGISTLIY WAL IG6
‘yow eretyp yHw Gant uni e wri yflgpsuiGSSiemt ?
A} @ 9. 6fl. prdibogney B) #Hmwd. Ardur urtieed
€ @@ R Qeukialgmoei D) Lnaii .08 Sigiekd seom.

Who outlined the concept of strategy of PURA in the Food Security Summit in
5th February, 2004 ?

A) Shri P. V. Narasimha Rao B}  Shri Pratibha Patil
C)  Shri. R. Venkataraman D) Dr. A.P.J. Abdul Kalam.
178. Spsasmcubhnist ang genn Flurat Qurmhseailcamen ?
A)  SuEemEr — wrflev Qewegeny sidanrd Cumbmeul
B)  umynERweNDID — genPw s Blwhmith wehmib
C) e ssfBfsnpd — o4& CuaperpWli G weimib

D) @hHus @rurss s — e auenwwne Klicurs ifaif.

|
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wi
) . Whlch one of the followmg is not correctly matched ?
A) i Govemor - Executive authority of the state
. B) : Parhament ‘ — . Legislature of the Union
C) ; .uSupreme Court - Highest court of appeal
‘D) ;} fPremdent of India — Real executive authority.
179. ‘Qgﬁm._fr S&Geunst & (Hauns@n Cudldsoemen NNSOEHSHeu
: A) wg }g@msiu L : B} Ut a1%iied&
v s c}gﬁglg @Qmu‘ileo Freu 6 D) gruil Gané.
Isolahon of whooping cough bacillus was done by
Ay’ iJules Bordet | B} Paul Ehrlich
C) ;Emﬂe Roux D} Robert Koch.
180 Gufm'irsuﬂw Pubhenswres m;pgjm Baeynb Qurgisuner Gemob sig ?
| "A)% H - B,0; { Curfia BAed ) ~ B) MgsB, ( Qmasaf-ﬁmm Gureny(® )
o) f H3BO; ( Gunfls sifeos ) D) Na,B,0;-10H,0 ( Gungnssh ).
The natural and general compound of Boron is |
A)'': B4O; ( Boric anhydride ) " B)  MgsB, ( Magnesium boride }
_Ac_:f { HgBO, {Boricacid} D) Na,B,O,-10H,0 { Borax).
181. Ggimmu_n_ SBPENI_19.60 Qumwenelied HenLd@n LGS
A).  wgeoy B). Geeod
& il signi D) QpLGasS.
Mag§net1te is mainly found in Tamil Nadu at '\ '
,A) Madurai - B) Salem
C) Cuddalore D) Neyvéli. '
182, &L.@gjuqﬁm sTEhTLIE 6 '
| A) L @ WpUpsowsolsnEGSulish & emThsamen Qmaﬂuu@lg,gjm wrleS e
E;} .. O el @emsmen Qaualiu@Ssub wihledse -
C—?‘) (A) 0pmID (B) BretnBid |
) - Peupmist argayblsvensy.
Pararneters are
: A‘)E ; constants reveahng populatwn characteristics
B) s constants reypeéhng sam_ple characteristics
. Cl * bothtA) & (B)
l%) none of these. o .
: : f [3o01] | | Turm over
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183. (& srmefledmis a@ssuuc  dedsmsaldar sl BEsrms

.................... Sh(SLD.

A 1 | B)

Cc O B D} . -
The sum of deviations taken from arithmetic mean is
A 1 B}

C) 0 D}‘ — 0.

184. uefllled 2 mpigIcTen @ @GHsds CGupuruy Qeiub — 15°C o6 2 seng).
@msSed 2_eren uaflliuLevgmss Csr_BHié Qansn( srer ;glﬂsm AL-TINTE] AP

A)  -75C B) -15°C
C)  4°C . D) o0°C.

The temperature of the top of a frozen lake is — 15°C. The ternperature of the
water in the lake in contact with ice layer will be

A) - -75°C B} - 15°C
c}  4°C | D) 0°C.
185. afiefIGUfl sremiiLDioug)
. A} . QathmissTeurtisen B) sretitSingevmen
C) o euif Peossreuriset D) emgﬂumgjmﬁg STeuTTseT.

Vivipary is exhibited in

A) Epiphytes B) Ephemerals
C}  Halophytes | D} - Succulents.
186. Wlemeumeusmeunled e1g) eflwray QuimssHng ?
A)  dAWeden — é]&ﬁ.’;ﬁﬁlﬂﬁﬁ)
B) u.me.'u)surés&.rrsb — ey &Gl Mifhir GumiggnmesLig
C) CAuuGenaGambeiv —_ et LEA
D) QGeugdflew - — meur}sfu.

Which one of the following is correctly matched ?

A)  Syphilis — Ascaris

B) Elephéntiasis — Wuchereria bancrofti
C) Trypanosomes | —. Sand fly |

D} - Lathyrism —  Viral infection.



188.

a

TPy

]

s

137 _,guﬂnmmuﬂcb opsasp Hsifeme ueoameu&s;psm&mm @ﬁﬂwmﬂw FOL.

"t Gmbw ufibgienrssss ?

Al ¥R A Crrir gap/sBiiyg B} . weipured Gup/ sl

C) siepglmayenten sib g D} | G. K. Slevenst sl

Which Committee recommended abalition of ‘Deemed Universities’ in India in

recent years ?

A}  Sam Pitroda Committee B) Yashpal Committee

C) Ananda Krishnan Committee D)  G. K. Pillai Committee.

ﬁdm" @esngarutiuulie uweru@io Sranbd syl ? '

A) g@cmﬁm B)  snubCunefiwn

Q). Q&mﬂgﬁ: D) aniustemL g,

" What is the name of the liquid that is used in modern refrigeratrs ?
'A)  Chlorine- A B} Ammonia

C} Oxygen ' D}  Carbon dioxide.

189,

A} 45° ' - B) 50°
C) 60° D) 30e. |
In the given figure, straight lines AB and CD intersect at O. If Za = 2 £B, then |
Lp=?
A . D
" A) 45° Bl 50°
C)  60° ' D) 30°.

Lpdsrggid uLSfld AB, CD agpd Boraw® GmkaGaw@adr o ﬂeb
&sﬂaﬂshmm £a=243 aefieo LB =7

D

[ Turmn over
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+37 4+ 3% + 3% gpeng Detreumeusteumico 6158 stetmenflenined ((pemwwins

UL ?
A) 11 - B 16
Q25 - D) 30.
Which one of the following numbers will completely divide 325 4 .’.;,26 +3%7 4+ 3%
A 11 \ B) 16
C 25 D)  30.
191. wgirr efggwib sTettgmyth ERemev epdieui
A)  Qgreoamnfwi - B)  wCsiSreuinos
C) emerGse ‘D) suir B T
‘Madura Vijayam’ was written by “
A) Tolkappiyar B) Mahendravarman
C)  Gangadevi D) Kambar.
192. g@ eV ShDDEOE 2796Sled ( joule ) wADMICUSHE SpssamL aetenmTred QLihHéHs
suessT(pid ? ‘
A) - 1.6x1071° : B) 1.6x107!8
C) 1.6x107V7 . D) 1-6x10‘1-6.
One eV energy in joule is obtained by multiplying
A)  1.6x1071° B) 1-6x107'®
C) 1-6x107Y D) 1.-6x1078.

193. Spsaain_cubhenn areoannliul auflmeliuBigs :

| L eub. g 1g. 19 & Lb
1. Glesmfled auariédl wHpib s GuUUIL®G Flt b
. ophHu Qeersustl & HUuN_Hi& sL1b

o V. @aophsul s sFaedl L.

Beaupmyei :

A ILIL IV, ] B) ILII, IV
C) IV, IL1 I D) IV, IL 1, L

Which one of the chronological sequences of the following enactments in India
is correct ?

I. = MRTP Act

1I. Industrial Development and Regulation Act

III. FERA

IV. Minimum Wage Act.
Of these :
A) LI IV, I B} LML, IV
C) v, 11, I, I . D) Iv, 11, 111, 1.

,
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197, mﬁ,ﬂlu Blireuns Sriiunwsg e ng_.rrqml_tu FRwnss ah.;bu ag ?
a). B em ai_L..lfﬁlu.ufm SIEDIOLILIN(GD
B) o pulientad Guursssmenored Huilssuu@depent
C) $£g 1985 Pev siemwssiiul L g |
D) ' Pea smenggid.
‘Wh-i‘.ch is correct with regard to the Central Administrative Tribunal ?
A) It is a statutory body
g) The members are appointed by the President
C} Itwassetupin 1985
D)  All of these.

198. @bl BEAligeh LPRISTE HrETTw CuUEHS

A) DNFGH HrewTwD B) = smssnsy ;f.trcmnutb
C)  (padleny premrumsst D) Beaudper ageSdeme.
The 1.:arlier coinage system of India was
A)  moulded coin B} coins of Sangam Age
C)  punch marked coins D) none of these.

199. Qesnenen paydSedr mdsassthnma, 2001 semdbls@uiiiehuig
A) 46 HeveSlweir - B) 64 BleveSlushr
C) 66 Blevedweéhn D) 71 BeveSluehr.
According to Census of India, 2001, population in Chénnai city was.
A} 46 milion B) 6.4 million |
C) 66 million D}  7-1 million.

200. 55&45\);61&;&0 2 Aemwé s Lb HavpCouppmiiuL gl
A 1952 ‘ B) 1977
C) 2000 D)  2005.
The Right to Information Act was passed in the year
A) 1952 B} 1977

C) 2000 D)  2005.
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194, snl (D&FTref) SremiiuL. (PiIquns SieneobleueiT Ligauey
A) o enam_rudlu BemeGlauettr UTeued
B) cenemLmiang eneoGleusior Lieued
C) @elley Jmevblousttr Lreusd
D) erevemed (PILSILLILILIS Q@IS Cleneiur . asﬁeocleusm HTeus.
: Arithmetic..' rriean cannot be computed for- |
A)  inclusive type-frequency distributions
B) exclusive type frequency distributions
C) curnulative frequency distributions |

D) frequency distributions with open-end classes.
195, Qg Cabla@n BLib e ?
| A) sﬁ\mg s . . B) eSigemL_ibleiv
C)  eumeiv Gliurebtsiv D) wfgon.
The part in which spen‘ns. are stored is
A)  Testis ' ' B} | Epidydimis
C}  Vas deferens 'D)  Urethra.
196. wdliiy gl suft ( VAT ) sfigisasuu@eugy
A)  msiGauni Bz Crllenwrs
Bl e pusd wpuesmLiyd uGasSle
) epusd OsrmiEn UbausSs

D) epusdlasn nd ApumensEn BeoLuled  oeter  srsbeon
Flemsomeflepb. : .

VAT is imposed

A) directly on consumer '

B)  on final stage of production
C) on first stage of production

D)  on zll stages between production and final sale.

| ‘ [ Turn over



65

" { SPACE FOR ROUGH WORK }

CINE



CINE 66

{ SPACE FOR ROUGH WORK )




_ Time Allowed ; 3 Hours ]
i

68 CINE
Register
Number

2011
GENERAL KNOWLEDGE
[ Maximum Marks : 300
Read the fouqiving instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

This Booklet has a cover { this page } which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions. '

This Question Booklet contains 200 questions.
Answer all questnons, All questions carry equal marks

+

You must write your Register Number in the space provided on the top right side of this page Do
‘not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,

_ failing which your Answer Sheet will not be evaluated.

i0.
11.

12.
13.

You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space prov:ded on the side 2 of the Andwer Shcet If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses {A), (B}, (C} and (D}. You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark thc response which you consider the best Tn'Bny case, choose ONLY ONE response
{or each quesu , Your total marks will depend on thé ﬁumber of correct responses marked by you

e

in the Answer ,Sheet : v

In the Answer Sheet there are four brackets [A][B){C}and [ D] against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each quéstion. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B} is the correct answer, you have to mark as follows :

(A1l (C1(D]

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

The sheet before the last page of the Question Booklet can be used for Rough Work.

Failure to comply with any of the above instructions will render you liable to such action or penaltv
as the Commission tnay decide at their discretion.

In all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet,

|
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